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Test 1 Tamil Nadu Economy — Features — State Budget: Major revenue and expenditure + TN
Budget 2024 Current Affairs

Analogy + @UNHS GO GUTHS ST GUT(HemeTH CHiia| C\FILS6D, UsLD

@ubhm mireo, HreomEiflwni+ Match the following words and phrases given in Column

A with their meanings in Column B

1. Which of the following statements about Tamil Nadu's economic growth are correct?
(i) Tamil Nadu registered an average growth of 10.3% from 2005-06 to 2011-12
(ii) The state maintained a positive GSDP growth during the pandemic year
(iii) After COVID, Tamil Nadu registered an average growth of 8% from 2021-22 to 2022-23
Select the correct answer using the codes given below.
(A) Only i and ii
(B) Only ii and iii
(C) Only i and iii
(D) i, ii and iii
(E) Answer not known
Blp& S Slest GumeTTSMT euoTisS & MlSS &Hpdes oL sa hmiseifled 6181 &flwneor &)?
(1) sIpmHIL_1q 657 &Sl eueris&l 2005.06 (P&H6d 20112 EUEHIT 10.3% @G LD
(i) QuEOBHOBTHL ST Sled wbleob Griwemmwirer wrbleo GLISS 2 HusbS WSlIeOU 5586 oS EIE
Q&TesoTL_§)|
(iii) @&sr@rmemeysEU YInE, 202122 (PGHd 2022-23 euenr HWIsD srmsfluns 8% eueridSlemut uSley
@&gI6ToT S
&G @Q&n(H&sUUL_[HeTar @ MHuThHissmert uwesTuhisS) sflwnest uSlemeos Bs bS5 (H&s b
A)iwdHmb ii wr_Hid
B) ii b b iii o1 Hid
O) i b mub iii o1’ {Hib
D)1, ii b b iii
E) oo @sflweScoemen

2. Which of the following statements about regional disparity in Tamil Nadu is incorrect?
(1) In 19 districts, the per capita income was below the state's per capita income in 2019-20
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(ii) The per capita income of the top ranked district is 3.38 times larger than that of the poorest
district

(iii) District-specific plans are needed to boost the income of all districts

(iv) Regional disparity in per capita income does not affect the overall GSDP of the state

(A) (i) and (iii) only

(B) (ii) and (iv) only

(O) (i), (ii), and (iii) only

(D) (iv) only

(E) Answer not known

SOIPHIL19.60 Sirmh S erbHoSSTHey ubHHIW SlesTeubid &or hmiaserled 618 Heumiteor &2

(1)19 eyl _L_ruseifled, §6oNbUIl 6uIHLOMTEOTD 2019-20 SLb <, 65011 60 WTHlevs Sl6oT & 6ofiBUIl 6u(HLT6T & 68 651
GODOITE SHHSS)

(i) sreuflemaulico (WPHeSl_sHleo 2 eiter wreul L GSledr Heflbul euHLIETD 6rpemwwiTesT el L &&ledr
GU(IHLONTGOT & 6008 6L 3.38 LOL 1@ DiSlsID.

(iii) S1emeor S,8) omeul’ L bisaflest au(pLomeor s emsib iSlsiflées wreu” L eumflwmeor Sl L biser Gsomey

(iv) 5eflBUT GU(HLOTETS 60 WesTL_60 Stemellevnest arHmSHMp6y, mblevsSlesr o1” (HNGIWTSHS wbled Glorss
2_husd wSlieou undHésns)

(A) (1) b g (iii) L Hid

(B) (ii) wH b (iv) w1 [Hibd

(©) (i), (i) o gyt (iii) tor”_[Hid

(D) (iv) 1" Hid

(E) Moo @sflweseoemen

3. Which of the following statements about Tamil Nadu's economy are true?
(i) Tamil Nadu ranks 4th in per capita income among major Indian states
(i) The state ranks 2nd in size of the economy
(iii) Tamil Nadu's growth is less vulnerable to external shocks compared to all India's growth pattern

(A) (i) only

(B) (i) and (ii) only

(C) (ii) and (iii) only

(D) (i) and (iii) only

(E) Answer not known

SWOIDBTL 19 651 @QuTperTSTID ubHHIL SlesTeIHD Fo b misefleo 618 &flwimeor g?

(1) seoflpuIT QBT S SHlod ShSlureiles @uifli wrhleokisafleo HOUDHT(H HTeTHETEIG EL_5S5l60 2_cToTs)
(i) QurEBeTTHTTSSl60 HOIPED 2-6u8) SL_&Sl6d 2_drers).

(iil) SpHwrelcsr SieverdHg euarids WeomaEHLT RUSIHbGBUNE HWBIDBTL 196r euerissl Geuafliymn
S$li&Hserneo @&emmeunsBe urSlésluHSIma)

(A) (i) or_[Hib

(B) () whH o (ii) L [Hib

(C) (i) i mb (iii) oG

(D) (i) b mytd (iii) tor”_Eib
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(E) oo @ flwesleoemen

4. Assertion (A): Tamil Nadu must improve the performance of both manufacturing and tertiary sectors
for sustained economic growth.
Reason (R): The average growth of the tertiary sector in Tamil Nadu declined from 2012-13 to 2022-
23.
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true
(E) Answer not known
sabm (A): Bl968 Qur@permsr cueridfléE sOIDBMH 2 HusbS wHnID ePTOID Howeosd Gieomaeflesr
@&weSlpener GuobuHss Geussor(Hib.
asnreord (R): s0IpmBIL 1960 ewermmd Hlemeosd gemmullesr sxmafl cuerisdl 201213 (WpHd 202223 euemT
&OMIHSIGITON G,
(A)(A) v mb (R) Sresor(Hid &fl wb o (R) sresrug) (A)dsmeor aflwreor eSlem&aom @b
B)(A) wh b (R) Sresor(hio &M <peormed (R) e16drug) (A)dsmeor &flwne eSlemésid Sicoeo
©)(A) sfl @eored (R) soupy
(D) (A) sougy peormed (R) &ifl
(E) oo @sflweseoemen

5. Which of the following is correctly paired?
(1) Tamil Nadu's rank in per capita power availability - 7th
(2) Tamil Nadu's Credit-Deposit ratio - 76%
(3) Tamil Nadu's rank in social progress index - 1st
(4) Number of districts highly vulnerable to climate change - 9
(A) 1, 3, 4 are correct
(B) 2, 3, 4 are correct
(C) 1, 3 are correct
(D) 4, 1, 3 are correct
(E) Answer not known
Slestau(meuscoreubmleo 618 Fflwns EemesrsaUIuL_(HoTor &i?
(1) sefipull WlssTEmT 2_HusSludled Hlwes ST srauflens - 7oug &L b
(2) SOIDIBITL_19.65T HL_66T smeutiy 69 EIBID - 76%
(3) Few s Guibun(Hé GMIUTL g 60 &S Slest Hrauflens - (P&56SILb
(4) &smeoblemev MHMESTE0 DSlGD UTSHSHSIUL &6 1q.W TEIL L higefledr oretoreoldons - 9
A)1,3,48M
B)2,3 4 &M
OC)1,38M
D)4,1,3 &M
E) eflom_ @& flweNeoemen
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6. Statement 1: Tamil Nadu's labour force participation rate was 6.8 percentage points higher than
India's rate in 2017-18.
Statement 2: The gap in labour force participation rate between Tamil Nadu and India narrowed
down to 0.7 percent in 2022-23.
(A) S1 and S2 are correct but S2 does not explain S1
(B) S1 is wrong; S2 is correct
(C) Both S1 and S2 are wrong
(D) S1 and S2 are correct and S2 explains S1
(E) Answer not known
sahm 1 OB 19651 Gsmpleoreri ukiIBashY 6Sl&SIHD 201718 b atoriqco SpSlumellesr eH&Hssems
oL 6.8 #5618 Yateflamer DiHlsib.
o Hm 2: SOIPHIEH wHmb SHSwr SeoL Guiwner GsmPleoneri ukiBashHY 6N&H55 S0 2_drer SemL Glevaifl
2022-23 Sl H,600119.60 0.7 E56550M1&5E & ODIHSG).
(A)S10Hmid S2 &M Speormed S2 oy, 6018) 122 eflem s 6flcoemen
(B)$186umy: S2 Eflwineor gy
(©)S1wobHmib S2 Sredor(Hid Heumy
(D) S1wHmid S2 #f wiHmib S2 S182 eflerd @GS
(E) efem_ @sfliuesleocmeo

7. Which among the following statements is not an objective of Tamil Nadu's economic policies?
(A) To ensure double-digit growth
(B) To reduce regional disparity in per capita income
(C) To decrease the Credit-Deposit ratio
(D) To improve power availability
(E) Answer not known
E1p &6 avorL_eub 6o 6151 SWOIDBTL g 6T QUIT(HETTSTTE ST emaHsafler GbiTd&Leoe0?
(A) 81’_coL Sovds evernidgSfleow 2_mis G&g6e0
(B) seoiBuIl u(BLOTEETS Sled ST I HDSBHTD NS @ DDE S0
(C) 56T cmauliy) 69 &)58 088 & DMmES60
(D) Bletremmbd SleoL_tiuems GubuhHss
(E) Moo @sflwesleoemen

8. Match the Following:
List I (Economic Indicator) | List II (Tamil Nadu's Status)
(a) Per capita income ranking among major states | 1. 2nd
(b) Rank in size of the economy | 2. 4th
(c) Credit-Deposit ratio | 3. 109%
(d) Rank in social progress index | 4. 1st
(A) (@H2), (b)), (c3), (d){4)
(B) (a)«(1), (b)(2), (c)H(4), (dH3)
(C) (@)-(4), (b(3), (c)H2), (A1)
(D) (@)3), (0)H4), (c){(1), (d)H2)

(E) Answer not known
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GROUP-IIA MAINS

Qu(H55Is:

u_iqwed [ (Qur@permasnr @mlamLg )| uL 1q.wed 2 (H0lp& & S6oT Hlemeo)
(@) &&wW wrHleoisefleo Heoflibull eupLTeTD Hreuflens |1 26ug)
(b) QunpeTTETISSH 6T Mooy Hreuflens | 2.4 ug

(c) &L_c0T-6meuIl eSIHISHID | 3.109%

(d) geps WerBerbmé GOIL_1q 60 sreuflens | 4. 1018

(A) @)2), (b)-(1), (©)(3), (d)(4)

B) @)-(1), (b)(2), (}(4),(d)(3)

(©) (@)-4), (b)-(3). (©(2), (D)1

D) @+(3), (b}(4), (©)(1),(d)(2)

(E) eflemL @ fweeoemeo

9. Find the Mismatched Pair
(A) Tamil Nadu's projected growth range in 2023-24 - Between 8.08% and 9.44%
(B) Tamil Nadu's rank in per capita power availability - 7th
(C) Number of districts highly vulnerable to climate change - 9
(D) Tamil Nadu's Credit-Deposit ratio - 76%
(E) Answer not known
QuBHSHTSH Be2iq emws &esorL_MHluey b
(A)2023-24 S, S &0T19.60 SOWPHTL_19 65T S L OIL_OUL_L euermi&& eumby - 8.08% LohH mID 9.44% &G SomLudleo
(B) sefibuii lesram SleoL_tiuleo slwes St srauflons - 7oug &L b
(C) smeoiblemen MHME&M6o l&a|b UTE&HEIUL &d61qW WTeul”_L hisefesT of torafldoms - 9
(D) s0lpBITL 19 65T HL_66T smeutiy 69 SIBID - 76%
(E) efem_ @sfliuesleocmen

10. Which of the following statements about Tamil Nadu's economic growth is correct?
(i) Tamil Nadu ranked third among major Indian states in average growth during 2005-06 to 2011-
12
(ii) From 2012-13 to 2021-22, Tamil Nadu's rank slipped to eighth among major states
(iii) Tamil Nadu's average growth came down to about 6.98 percent from 2012-13 to 2018-19
Select the correct answer using the codes given below.
(A) Only i and ii
(B) Only ii and iii
(C) Only i and iii
(D) i, ii and iii
(E) Answer not known
HWIp& S Slest @QuT(HeTTSITT eueTisSl @& MISS Sipés ot se hHmisaifleo 618 &flwimeor g?
(i) 2005.06 W Hd 20M-12 euemruleoner &meosl L H&leo &rmafl ewemisHulleo ShHwmefesr Guifu

wbleorbisafled HOIDBT(H e TN L5560 S(HiHS5)
(ii) 201213 (W H b 2021-22 euemir, GUFlW wHleokiseflco HONDPHI(H 6T L Teug SLSHSDE Serertiu’ L g

(iii) OWDpBIL_1g &1 FTTEf] euermiis & 2012-13 (PG 6o 2018-19 CUEHI &HLDMI 6.98 FSH65HONS & HDIHSICTN &)
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&B Gsm(HssuuL_([Herer @&MluThHisomert wesTuHiSS) Fflwner uSlemood Csiih0IS (HEHSBAD.
A)iwHmibd ii w1 [Hid

B) ii b b iii o1 Hid

C)iwmbmub iii 1" (Hid

D)1, ii b mub iii

E) eflooL @siflwedleoemen

11. Which of the following statements about Tamil Nadu's per capita income is incorrect?
(i) Tamil Nadu ranked fourth among major states in per capita income in 2021-22
(if) Tamil Nadu's per capita income was 2 2.42 lakh in 2021-22
(iii) Telangana ranked first with 2 2.71 lakh per capita income
(iv) Tamil Nadu's per capita income was lower than the all-India average
(A) (i) and (iii) only
(B) (ii) and (iv) only
(C) (i), (ii), and (iii) only
(D) (iv) only
(E) Answer not known
SWIDBITL 19 65T Heotlpull u(BLTeoTb ubhiu YleTeu(HID FoHmIsafled 6181 &oumiTeot g7
(1) 202122 S 01960 HflBUT eu(HLIETSHSl60 Gufiu wrbleomsefleo HSWIDHT(H HreTHTENG SL&Sl6d
2_6iTeng)

(ii) 2021-22 S, 1b S, 68071960 HOWDHTL_Lq 65T HNBUIT Gu(HLTETD T 2.42 60L_&LOTSH SHHSHI
(iii) HeollBUIT QUBLOTGOTID ¢1H.2.7160L_&F& GIL 60T OIS MIBIGTETT (PSH6SIL_&Slcd 2_dTers)

(iv) OB 19 65T HeoflBuIl au(BLTETD MiSHled SibSu Frmeflemw el @mpauns S(bHbHsH5)
(A) (i) b gyt (iii) or_Hib

(B) (ii) wH oD (iv) 1" [Hibd

(©) (i), (ii) o mutb (iii) tor_[Hib

(D) (iv) bL_(Hid

(E) Moo @sflweseoemen

12. Which of the following statements about district-wise per capita income in Tamil Nadu are true?
(i) Thiruvallur has the highest per capita income of ¥ 3.67 lakh
(ii) In 13 out of 32 districts, the per capita income is higher than state average
(iii) Perambalur has the lowest per capita income of ¥ 1.07 lakh
(A) (i) only
(B) (i) and (ii) only
(C) (ii) and (iii) only
(D) (i), (ii) and (iii)
(E) Answer not known
SWIDBTL 19 60 ey’ L eumflwmest eoflpul eu(pomeoTd> ubHMIL SlesTeu(BLD o b musseifled 618y & flwimesr g?
(1) SlpeuTeomii SSlEHUL_FIONS e15.3.67 oo1”_&ib Heflbull eu(mHLT6TD @UHMIGTETS.
(ii) 32 e’ L_ibiserfled 13 wreul” L bisafled eoflbuit sucpLomnestid wmbleo sxmaflemiw 6L Siflswns 2_drerg)

(iii) @umbuepnii 116 & @& cowIHS HeolBU u(HLTETD I 1.07 COL_FLONES 2_6ToTs)
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(A) (i) r_(Hid

(B) (i) by (ii) oL (Hid
(C) (i) b gy (iii) wor”_Hid
(D) @), (i) b mb (iii)

(E) oo @ flwesleoemen

13. Assertion (A): Tamil Nadu's policies relating to expenditure and taxes seem to stimulate the state's
economic growth.
Reason (R): The capital expenditure-GSDP ratio and one-year lagged revenue expenditure-GSDP
ratio had a positive effect on growth.
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true
(E) Answer not known
sgahm (A): sOIPBM 19651 @&Fevefeord wHMID eufleeT @FTLiuTer O&TETEOSESET WHeos ST
QUNTEHETTHTT GorIT & emd GiTesor (H&edTmeoT.
snreoid (R): epoogeord Gecoey - wmbleo GIHs 2 Husbd wSIIY NSGD WHmID grmesor(H Gl G
ou(poumilg @&eve| - wrbleo GLISH 2 Huss wEHIY N&EGD NBSlweney euerisdHulled @miiemmIITEDT
BM1&65 608 oI bu(hdSloTorcor.
(A)(A) v mb (R) Sresor (i &fl wb o (R) stesrug) (A)dsneor aflwreor eSlem&awom @b
B)(A) wh b (R) Sresor(Hio &M <peormed (R) e16drug) (A)dsmeor &flwnet eSlemésid Sicoeo
©)(A) efl @ eormed (R) soumy
(D)(A) sougy weormed (R) &l
(E) efem_ @sflweseoemen

14. Which of the following is correctly paired?
(1) Tamil Nadu's own tax-GSDP ratio range from 2005-06 to 2014-15 - 7.3 to 9 percent
(2) Tamil Nadu's debt-GSDP ratio in 2020-21 - 28.67 percent
(3) Tamil Nadu's rank in per capita power availability in 2022-23 - 5th
(4) Punjab's per capita power availability in 2022-23 - 2497 kwh
(A) 1, 2, 4 are correct
(B) 2, 3, 4 are correct
(C) 1, 3, 4 are correct
(D) 1, 2, 3 are correct
(E) Answer not known
Slest a(HeucOTEUH M6 618 Fflwns Semesor&aUILL_(HloTor &)?
(1) BB 1961 QEmhs euflbmbleo GLISS 2 Husbsl eH&lsD 2005.06 (WHEO 201415 GUEDT 7.3 (PHEO 9
F56851D CUEOT 2_6Terg).
(2) 2020-21 b =, 600T19.60 HOIDIBITL 16T HL_GOT-WiMHleo GWTEHS 2 Hus S SIS - 2867 F&H65D
(3) 2022-23 b <, 600719.60 Heoflbulf WledTEMTD SlemL_tiuSled H&S ST Hrouflons - Seug &L Lb

(4) 2022-23 b 600119 60 UEHETIGST HeoNburt WledrEmmbd - 2497 kWh
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A)1,2,450M
B)2,3 45
C)1,3,4&M
D)1,2,3 &M
E) eflooL @siflwedleoemen

15. Statement 1: After 2016-17, Tamil Nadu's debt ratio exceeded the 20 percent mark suggested by the
New FRBM Review committee for all Indian states.
Statement 2: In 2020-21, Tamil Nadu's debt ratio had a sudden jump of 4.36 percentage points over
the previous year due to the pandemic actions.
(A) S1 and S2 are correct but S2 does not explain S1
(B) S1 is wrong; S2 is correct
(C) Both S1 and S2 are wrong
(D) S1 and S2 are correct and S2 explains S1
(E) Answer not known

&o H M1 1: 201617 H@GU SID @&, SOIDBTL_ 19 65T L6657 H&IHID Diemeor &g S wmiblevrssemné @b ysSw FRBM
LODIBS (R UTIbgImISS 20 556555608 HIT6toriq WE.

&oHM) 2: 2020-21 1D G071 60, SOIPHTL_19.65T HL_6T SIS CHTHMIGHTIL HL 6L & CHEBEHEIT SITTCOILONES
WPHeOSW petoremL oL 4.36 £5688 UeTeflser Slie @re 2 wihsg).

(A)S1oHmid S2 &M Speormed S2 60181 122 eflem & 6fleoemen

(B)$186umy: S2 #flwineor gy

O S1wHmb S2 Sresor(Hid Heumy

(D) S1oHmid S2 #f wiHmib S2 S122 eflerd @GS D!

E) eflom @sfliwueNeoemen

16. Which among the following is not a policy announced by the Government of Tamil Nadu to promote
growth in 2023-24?
(A) Tamil Nadu Semiconductor and Advanced Electronics Policy 2024
(B) Tamil Nadu Ethanol Blending Policy 2023
(C) Tamil Nadu Nuclear Energy Policy 2023
(D) Tamil Nadu Logistics Policy and Integrated Logistics Plan 2023
(E) Answer not known

GlesTau(moucToubhMIcd 6T& 202324 Pid H,6DoTg60 aleTidSflomw 2asGAIUsHETE Slps DImETed
SiNleN&H&0UL_L Q&T6T 608 Di6060?

(A) 5OIDBI(H GeODESL G5 Whmib Gubul’ L 6T eor e Cl&TeT ene 2024

(B) SOIDBT(H) 6TH ST H60d G &ToTENS 2023

(C) 0BT (H SieEdsH) GsmeTens 2023

(D) 5101w (H) Hormeun_& @aTerens whHmib HbIS emeThe HeTeum_g S_L b 2023

(E) efem_ @sflweseoemen

17. Match the Following:
List I (Economic Indicator) | List II (Tamil Nadu's Status)
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(a) Rank in size of economy | 1. 4th

(b) Per capita income in 2021-22 | 2. 2nd

(c) Rank in per capita power availability | 3. ¥ 2.42 lakh
(d) Projected growth rate for 2023-24 | 4. 7th

(A) (@H2), (b)3), (04, (d){1)

(B) (@)(1), (b}(2), (©-4), (dH3)

(C) (@)-(4), (b)(3), ()(2), (A1)

(D) (@)-3), (b)), (c)«(1), (d)2)

(E) Answer not known

Qu(H55is:

u_iqwed [ (@Qur@penmasnr @mlam Lg) | uL 1q.wed 2 (H0lp& & S)6oT Hlemeo)
(a) QUIEHETTHTISSHGT Siemey Hrouflens | 1.4 oug)

(b) 202122 &6 GHeoNBUIT QUUBHLOMEOTD | 2. 26u8)

(c) seoNiBU BledTEMTD HevL_tiuSleo sTeuflens | 3.3 242 eo1”_&ib
(d)2023-24 b Ypevoriq HETeT L O UUL_L eweriésl eNSlsb | 4. erpmbd su@ly
(A) @)(2), (b)(3), (©)(4), (d)-(1)

(B) @)1, (b)(2), (©)(4), (d)-(3)

(©) (@)-4), (b)-(3). (©(2), (d)(n)

(D) (2)-3), (b)(4), (©)-(1, (d)-(2)

(E) eflemL Qg flwefeoemeo

18. Find the Mismatched Pair
(A) Tamil Nadu's growth rate in 2022-23 - 8.19 percent
(B) Tamil Nadu's rank in outstanding liabilities-GSDP ratio among major states - 12th
(C) Number of districts in Tamil Nadu with per capita income higher than state average - 13
(D) All-India projected growth rate for 2023-24 - 7.3 percent
(E) Answer not known

QuBHBHTSH Be2riq W &esorL_Mlue b

(A) 202223 b <, 600T19.60 HLOWDBIL_Lg 657 euai&dS NHHID - 8.19 FH6SHID

(B) Appe QurmItiysefle sOlYssSer srauflens - wrbleo GIES 2 HusS NSlHD Guilu wrbleohsafleo
12608 &L_1b

(©) sbdlpmM 1960 sHeoflbui eupwLIeTDd wMHleo Fmmefleow ol Hlswns 2 erer wreu L hiseflesr
616001 60015 60085 - 13

(D) 2023-24 S1b <, 600119 HEBT0T DiHleo SbGHw S L OL_OuL_L cueris& eNHSD - 7.3 56561

(E) Moo @sflwesleoemen

19. Which of the following statements about Tamil Nadu's economic indicators in 2023-24 is correct?
(i) SGST and IGST revenue collections from April to November 2023-24 have been robust
compared to 2022-23
(if) Monthly VAT revenue collection is higher in almost all months in 2023-24 than in 2022-23
(iii) Total stamp duty and registration fees revenue collection is lower in 2023-24 compared to 2022-
23
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Select the correct answer using the codes given below:.

(A) Onlyi and ii

(B) Only ii and iii

(C) Only i and iii

(D) i, ii and iii

(E) Answer not known

202324 b 600TIq 60 HOIPBIL 19651 QupennsTr &DuSHiser ubmdlu Slereumb Sidlsnasefléd org)
sflwmeorg)?

(i) eroioghleroivlg. WHMID gRglleTeivlg UIHGIMILI CUGH6d UG (PSHO HEUDUF 2023-24 cuemT 2022-23 2 | 65
US[HibBUTE) GueYICITE 2 6iToTs)

(i) rsmHSIT wHOYS sa 1" (H culfl eueumiil 202223 b e 6mL 6SIL 2023-24 (b 60071960 S L SHGHL L
SiemeoT & Gl N hiseflenid SiSlsne 2_ererng)

(iii) Qs W Slemrsser eufl HmID uSleyd &1° L ewThiIGeT 202223 2 16T UISI(HIbGBUNEI 2023-24 b
<1 600T19.60 GU(THOUMLL 6) &, 60 (& GDMOUNE 2_6ITO Gl

&G@ Gsm(Hssuul_(Herer @mluThHissmert wesTuhHisS) Fflwner uSlemeod @Csiih0\s (HE&HAD.

A)iwbHmb ii L Hid

B) ii b b iii o1 [Hid

C)iwbmub iii 1" (Hid

D)1, ii b b iii

E) eflom @sfliwueNeoemen

20. Which of the following statements about Labour Force Participation Rate (LFPR) in Tamil Nadu are
true?
(i) Tamil Nadu's LFPR increased from 59.8 percent in 2017-18 to 62.3 percent in 2022-23
(ii) The gap between Tamil Nadu's LFPR and India's LFPR narrowed down to 0.7 percent in 2022-
23
(iii) The LFPR for male has been higher than that for female in Tamil Nadu

(A) (i) only

(B) (i) and (ii) only

(C) (ii) and (iii) only

(D) (i), (ii) and (iii)

(E) Answer not known

SWOIDBTL 19 60 GGmPleomeri usoL ubkiBaiby eN&lsb (LFPR) ubhdliw Siesreupid sa b misafleo ergy aflwmeor g?
1) sdlpmm_1g.66r LFPR 201718 60 59.8 #8616 5 5169 (b &) 2022-23 60 62.3 &&5655008 2_Wwiihs s

(i) sblpmm19esr LFPR whmid @pSwreflesr LFPR oo Guwnesr oo @euefll 202223 &eo 07
F5685D165 &ODHHS)

(iii) 5OIDPBIL 19 60 Questrsefletr SLfur () e9&55 S s eSIL <, aorsaifledr SLifum(h) SSls0ns 2_drerng.

(A) (i) w1 @b

(B) (i) b mubd (ii) 1 Hib

(C) (i) b myid (iii) oG

(D) @), (ii) b g (iii)
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(E) oo @ flwesleoemen

21. Assertion (A): Tamil Nadu continues to rank high on the Credit-Deposit Ratio (CDR) among major
states.
Reason (R): A high CDR is reflective of higher economic activity in the country.
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true
(E) Answer not known
o hm (A): BL6T smeutiy ef&lgsSHleo @uiflw wirbHleomseflenL Gw sWOIPHN([H COSTLiH 2 wihs Heneouleo
Bmbg BEIDG!.
snreorid (R): 2 wi  &L6r eweuy eN&SIHD eredTug BT 1657 2 Wi QUIIHETTSIT BL CYLG 86088 HET
Slr$lueS &S s).
(A)(A) i mib (R) Sresor (hid & wbHmub (R) eresrugy (A)dsireor flwireor sfleméason@ib
(B)(A) wH b (R) Sresorplid &ifl peormed (R) e16d1U8) (A)dsTeor Efluner eferdsid Sicoeo
©(A) &fl @ eormed (R) sum)
D)(A) sougy weormed (R) &
(E) efem_ @sfliuesleocmen

22. Which of the following is correctly paired?
(1) Tamil Nadu's CDR in 2022-23 - 109.4%
(2) All India’s CDR in 2022-23 -72.1%
(3) Tamil Nadu's rank in CDR among major states in 2022-23 - 1st
(4) Andhra Pradesh's CDR in 2022-23 - 149.2%
(A) 1, 3, 4 are correct
(B) 2, 3, 4 are correct
(C) 1, 4 are correct
(D) 1, 2, 3 are correct
(E) Answer not known

Slestau(meusoreubhmleo 618 Fflwnes & emesrsaUIuL_(HoTor &i?

(1)2022-23 6o HOlpHBIL_1q 651 CDR -109.4%

(2) 202223 Goo i&leo SHHw CDR - 72:1%

(3) 2022-23 b S, 600T19.60 (P&HSW wHleomisefleo CDR &eo s5101p&s Sler sreuflems - st
(4) 202223 6o HHTU SIr@sH &5 85leor CDR -149.2%

A)1,3,4 &0

B)2,3 4 &M

C)1,4 &M

D)1,2,3 &M

E) sflom @& flweNeoemen

23. Statement 1: The share of the tertiary sector in GVA of Tamil Nadu was 53.1 percent in 2022-23.
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Statement 2: A downward shift in the overall economic growth path is observed in Tamil Nadu's
economy since 2012-13.

(A) S1 and S2 are correct but S2 does not explain S1

(B) S1 is wrong; S2 is correct

(C) Both S1 and S2 are wrong

(D) S1 and S2 are correct and S2 explains S1

(E) Answer not known

saphm 1 SOWDBI 96T sdlellarefleo eedrmmbd Hlowoos Gliommulledr umki@ 202223 D Y6001 60 531
&56iiHL0M185 SHHS)-

So M) 2: 201213 (PH6O HWOIPHIL_Lg.65T GUTHETTSTTSS60 L (OIS S QUT(HETTSTT euaTiid &0 UTemSUSled
S pGrr&&S THDD STeoTIUHISIDEI.

(A) S1wobhmib S2 & < eormed S2 <, co181 S122 6flerda68606m60

(B)$180umy: S2 #flwineor gy

(©)S1opmib S2 Sredor(Hid Heumy

(D) S1obmub S2 &M whHmib S2 S1en sflerd@ S ma

E) eflom @s e eoemeon

24. Which among the following is not a characteristic of Tamil Nadu's economic growth pattern?
(A) Tamil Nadu maintained a positive GSDP growth when India's GDP growth slipped to -5.8
percent in 2020-21
(B) The tertiary sector has been the prime driver of Tamil Nadu's economy
(C) The primary sector showed the highest growth rate among all sectors from 2012-13 to 2022-23
(D) The secondary sector grew above 9 percent during the past two years
(E) Answer not known

Slesrou(rhEuGOTEUDH D60 6T SONPHBITL_Lg.65T @M HETTSTT cuariid &l Sieowtlledr Amitliucoy Sicoeo?

(A) 2020-21 b 60011960 ShHSlwneflesr GLond s 2 6B (H 2_Husb S eueri&s 5.8 &a6iswns flibsGursg
SWOIDBT(H Chiwemmwiner wibleo LTSS 2_Hus S aeriésflemws &&s croussid &L g)

(B) ey ermmid Hlomeos; Hiemm SO 19651 QUTIHETTSHTTEH ST (PHHBTEOWD 2_H) F&HSIITE 2_6irens)

(C) 2012413 (PG 60 2022-23 EUEHIT MO &) HIEODEGTINID (PHHTEMWDS HIGOM DiSHE eueTids eH&HsHHcmsd
SM1qWG|

(D) @resor_md fHlemens giomm sL1bs Eresor(h) < etor(Hisafled 9 6565855 5H G ASHWNes cuerimhaHieTer g

E) eflom_ @& flweMNeoemen

25. Match the Following:
List I (Economic Indicator) | List II (Tamil Nadu's Status)
(a) Share of primary sector in GVA (2022-23) | 1. 34.1%
(b) Share of secondary sector in GVA (2022-23) | 2. 53.1%
(c) Share of tertiary sector in GVA (2022-23) | 3. 12.6%
(d) Average growth of primary sector (2012-13 to 2022-23) | 4. 4.95%
(A) (@)(3), (bA1), (H(2), (d)(4)
(B) (a)«(1), (b)(2), (c){3), (%)
(C) (@)-(4), (b(3), (H(2), (dH1)
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(D) (@)2), (}(4), (©){1), (d}3)

(E) Answer not known

QUT(H55I8:

u_iqwed [ (Qur@pemmasnr @mlamLg )| uL_1q.wed 2 (H0lP&H & S6oT Hlemeo)
(@) GVA 86o (pscsreming g1eomulledr uki@ (2022-23)| 1. 34.1%

(b)GVA 860 Sresornib Hlemeos; g1emmulledr i@ (2022-23)| 2. 53.1%
(©)GVA &ev eypcdrmmid Hlemeo giemmulledr ubi@, (2022-23) | 3.12.6%

(d) waeTedIS HIewDUNGT FTTER Cuemi & (201213 (P G6d 202223 euemn) | 4. 4.95%
(A) @)-(3), (b)}(1), (©)(2), (d)(4)

B) @)-(1), (b)(2), (}(3), (d)(4)

(©) (@4, (b)-(3), (©(2), (D)1

(D) (@)(2), (b)(4), (©)-(1), (d)(3)

(E) eflemL @ g fleeoemeo

26. Find the Mismatched Pair
(A) Tamil Nadu's rank in banana production in India - 1st
(B) Tamil Nadu's rank in rice production in India - 4th
(C) Average growth of Tamil Nadu's primary sector (2005-06 to 2011-12) - 6.05%
(D) Peak growth of Tamil Nadu's secondary sector (2005-06 to 2010-11) - 21.14%
(E) Answer not known

QuBHSTEH Geariq mws &esor_ M b

(A) eunemip 2_HusSHufleo SibSwnefl@eo@uw HOIP&ID (WPH6SIL LD - (pG6SIL_b

(B) @l 2_Hus HuSleo SpSHlwresleo HOI&SE6r STouflcns - 40ug SLb

(C) 5OIPBITL_19.65T (P H ST oMW S GiewDUSIST FTTES cuemid S (2005-06 (P &6d 2011-12 6UEDIT) - 6.05%

(D) 501" _1q 661 SresorLmib [Hlemeos glemmuilest 2_&& aueriid &l (2005-06 (Pp&G6d 2010-1 6u6mIT) - 21.14%
(E) efem_ @ flwesleoemen

27. Which of the following statements about historical budget allocations in Tamil Nadu is correct?
(i) The construction of Mettur Reservoir was announced in 1924 with a total allocation of 647 lakh
rupees
(ii) The General Sales Tax was introduced in Madras Presidency in 1939-40 at the rate of 1 percent
(iii) The noon meal programme was first introduced in 1921 at a cost of 1 anna per day per student
Select the correct answer using the codes given below.
(A) Only i and ii
(B) Only ii and iii
(C) Only i and iii
(D) i, ii and iii
(E) Answer not known
SOIDBTL g 65T ureombm) U™ GigeL 6&Is S (HiseT ub M BlesTeu(BD &a hmisefleo org) &flwimeorg?
i) Gul @i Bi5CséEsb &L (Houg 1924 Wb R 647 ool &b epuml OLISH R&ISSL 1960

sSifleflésiul_Lg)
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(i) @urg ofbusmesr cufl 193940 b N6oTIq60 OFGToMT WNGTATSHSl0 1 F&56585 &G5S0
SIPI(WP&EUUHSSOIUL L8

(iii) wSHW 2_cwrays SlI_Lb WHT(PGH6SI60 1921 Db 2,687 (H (I LTERTEUGD)EHE) GR(IH [HITCHOT & @) 1 SGoOTIT
@&ov6leo AM(WP&LILHISSIUL_L G

&G@ GsT(HssUUL_([Herer @&MHluTHisomert wesTuHiSS) Fflwner uSlemood Csiih01S (HEH&HAD.

A)iwHmub ii L Hid

B) ii b b iii o1 [Hid

C)iwmbmub iii 1" (Hid

D)1, ii b iii

E) eflom @sfliweNeoemen

28. Which of the following statements about welfare schemes in Tamil Nadu is incorrect?
(i) The Slum Clearance Board was set up in 1970 by Muthamizh Arignar Kalaignar
(ii) The Nutritious Meal Programme was introduced by Makkal Thilagam M.G.R. in 1982-83
(iii) Free electricity connections for agriculture were introduced in 1990
(iv) The free bicycle scheme for Adi Dravidar and tribal girl children was introduced in 2011-12
(A) (i) and (iii) only
(B) (ii) and (iv) only
(O) (3), (ii), and (iii) only
(D) (iv) only
(E) Answer not known
SOIPBIL19.60 Heod Sl L thisselr ubHIu Hipéecdor ge b miselleo o181 Heumimeorg?
() ®a&tuES wirbhm eumflub 19701 1, 600T ([H (PSHBWOID SiDIEHIT &emevEhTTed BSHMhHMIEHlSEIUL_L &)
(i) #& 516001605 SI_LID 10&&6T SlevssId 6TID.85). i DeUTEHOTTED 1982-83 b ,6007 (H DMWY HIUHISSIUL_L &)
(iii) eNleuemus Sl @ Eevous WledT &M &6m6mTUILE6IT 1990 plb <, 6007 (h SIHl(W&UIU([HISSUIUL L 6o
(iv) 2 S1SIrmeSILii b mith LLPIELe uSlesT CIUETHT B L1 ENE & OIS &TeT Scveus WISleussorig SIL b 20112 b
<6501 () SIOIPSUIUHISSIUL_L &)
(A) (i) b oyt (iii) or_Hib
(B) (ii) b mytd (iv) 1" [Hibd
(©) (i), (i) o gyt (iii) tor”_[Hid
(D) (iv) L_Hid
(E) oo @sfliuesleocmen

29. Which of the following statements about recent budget allocations in Tamil Nadu are true?
(1) Rs.500 crore was allocated for the Chief Minister's Breakfast Scheme
(ii) Rs.7,000 crore was allocated for 'Kalaignar Magalir Urimai Thogai'
(iii) These allocations were made in the Budget Estimates 2023-24
(A) (i) only
(B) (i) and (ii) only
(C) (ii) and (iii) only
(D) (i), (i) and (iii)

(E) Answer not known
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SOIDBTL 19 60 FBUSSIW UL Clgl” &GS HsT & DIdS SledTeu(mHbd &o hHmysefleo erg &flwimeorgy?
(1) oo ésfler sremen 2_axia) S LSS5 hens 500 Gaiig. erumi 65158 (H O&WwOUL_L g
(ii) ‘& emooehit asafli 2_fleming s emL_&@ 7,000 Bsiig epumi 95158(H O&WWIUL_L &

(iil) B 8168 [Hi&6T 2023-24 QTe)-QFmeys Sli”L wSHUSHEseflc @ainuiur L cor

(A) (i) wr_Hib

(B) () b mutb (i) 1" [Hid

(C) (i) b gyt (i) o1”_Gid

(D) (). (i) oD od (iii)

(E) efem_ @ flwesleoemen

30. Assertion (A): Tamil Nadu's developmental trajectory was established on a foundation of compassion
towards the well-being of poor and downtrodden.
Reason (R): People-oriented welfare schemes have played a major role in Tamil Nadu's growth story.
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true
(E) Answer not known
s Ml (A): HOIDIBIL_1q 65T eueri& &l uTEns aremip HMID Silg S5 (H s 6flesT Hevestled Sidas emm GaTesoTL
S S5emSleor B Hlmieuiul_Lg).
asnreord (R): 501pss Sleor eueris Sudled wéselr &mibhs HeoSSI L biseT (&I U@ eusléSlesrmeor.
(A)(A) b mib (R) Sresor (hid & wobHmub (R) eresrugy (A)dsireor flwireor sfleméason@ib
B)(A) wH b (R) Sresor(Hio &M <peormed (R) e16drug) (A)dsmeor &flwnet eSlemésid Sicoeo
©)(A) sfl @peormed (R) poumy
D)(A) sougmy peorned (R) &l
(E) efem_ @ flwesleoemen

31. Which among the following is not one of the objectives mentioned in the government's grand Tamil
dream?
(A) Social Justice
(B) Welfare of the marginalized
(C) Economic liberalization
(D) Sustainable Green Future
(E) Answer not known

SlssreupeucToubidled o151 Sméler wIEUEBDL HWOIDES sorelléd GMILGILOUL [HidTter  Gprésiisafled
6DGOTM6060?

(A) seps B

(B) efeflibyblemev wéeefledr meoedt

© @QUITEHOEMTSITT SHITTTETLOWILDTE & 60

(D) Hlemeoweor uar oo eTSliisMe0id

(E) eflomL_ @5 flweNeocmoo
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32. Arrange the following events in chronological order.
1) Introduction of General Sales Tax in Madras Presidency
2) Establishment of Slum Clearance Board
3) Introduction of noon meal programme in Thousand Lights School
4) Introduction of free electricity connections for agriculture

(A) 3-1-24
(B) 1-3-2-4
(C) 2-4-1-3
(D) 4-2-3-1
(E) Answer not known
Slesreu(pibd il poysemer s sreocuflemaiiulg auflenetiuhlsgis.
1) @&cdTemeT wsmeorsSleo Gung eflbhusner aufl MWD
2) GoEluGS wTHn eurflub S E60
3)  Wullrid efleréd @, ueirafludieo wHw 2_ewreyd H” L b SIMl(W&bd
4) ofleusmus S @ Soveus DledT T EemerTiIL&H6T HMHI(WPEHSID
(A)3124
B)1-324
(C)2443
(D)4-2.31
(E) efem_ @sfliuesleocmen

Which of the following statements about archaeological excavations in Tamil Nadu is correct?
1) Excavations will be conducted in 8 locations across the state
2) A deep sea excavation pilot study will be conducted at Korkai and Alagankulam
3) An open-air museum will be constructed at the Keezhadi site
Select the correct answer using the codes given below,
(A) Only 1 and 2
(B) Only 2 and 3
(C)Only 1 and 3
(D)1,2and 3
(E) Answer not known
SOIDBTL 19 60 GIHTE6SILcd s WMies6T Ubh MW YlesTau(mHb sa Hmisafled 618 &flwmeor g)?
1) wmbleob p(ReugIb 8 SLhisefled DmpMiie) HLSHSUUL 2_oTers)
2) @&MHEmE WHMID SHP&HGSTEOTHS60 WDEHL 60 DisIPMILIe) (PTG e BL&S5UIU(HID
3) 8&uwliq sersSleo B Slwibs el SiHhisT_Swsb &L UupHib
&Q@ Gsn(Hdsiiul_(Herer @MluThHlssmert uwesTuhisS) Fflwner uSlemeos @Csiih0Is (HE&&MD.
A)1oHmib 2w HGW
B) 2 oihmid 3w (HiGw
O 1hHmub 3 1" [Hib
D)1, 2whmub 3
E) sflom_ @& flweNeoemen
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33. Which of the following statements about the 'Kalaignarin Kanavu [llam' scheme is incorrect?
(i) It aims to create a '"Hut-Free Tamil Nadu' by 2030
(i) One lakh new houses will be built in the first phase
(iii) The unit cost per house is Rs. 3.50 lakh
(iv) The scheme will be implemented at a cost of Rs. 5,000 crore
(A) (i) and (iii) only
(B) (ii) and (iv) only
(O) (i), (ii), and (iii) only
(D) (iv) only
(E) Answer not known
8 6m60(GhITl 65T H60TR| Sveoid’ Sl L b ubH v SpsscsrL Fe Hmisseflco 6181 &eummeor g?
(1) 2030-&@& 6T B9 O&USIcv6orT HIP&HS S 2_(HoUTEE S BbT&&LNsé O\IT 0T (HleiTor &)
(i) (B oo HL_L 1o& (1 6oL &b yShw eS([Hls 6T s L UupHitd
(iii) (B 65119 H&BT T Bi60&S GBS €1H.3.50 &0 &b
(iv) @6 SI_L b em.5,000 Baiig @Feveiicd GFwOUHISHIUHID
(A) (i) b gt (iii) or_Hib
(B) (ii) b mtd (iv) 1" ([Hibd
(©) (i), (ii) b oyt (iii) or_[Hib
(D) (iv) bL_Hid
(E) efem_ @sfliuesleocmen

34. Which of the following statements about rural development initiatives in Tamil Nadu are true?
(i) The 'Mudhalvarin Grama Salaigal Membattu Thittam' aims to expand the network of quality
roads to remote villages
(ii) The Anaithu Grama Anna Marumalarchi Thittam-II' is being implemented in 2,482 Village
Panchayats
(iii) 2,000 new overhead tanks will be constructed in rural local bodies

(A) (i) only

(B) (i) and (iii) only

(C) (i) and (ii) only

(D) (i), (ii) and (iii)

(E) Answer not known

SOIDBTL_1g 60 2erss euemis&l (wbhSser uhb M SlesTeu(pb o b musserfleo 618 &flwireor g?

(i) Osremeognm &SlrmohisEHsEE ST Fremesemer oSflaubhssnts (WHd S FTemeLsHT
Gubur_{HiS S L b @BréswnED

(il) ‘omeorSH g Slimo Dicsoreoorm wMweoFESS Sl b-2 2482 Slgnw zeapm” Hsafled @sweoUHSSIUL_(H
B

(iii) 2erp8 2_eiremm’_& Siemwiiysefled 2,000 ySHlw GuediHleneo BiisG5&8 @& _1q &6t s Uu(Hib

(A) (i) or_[Hib

(B) () whH mub (iii) L {Hid

(O (1) H b (ii) 1_Hib
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(D) (1), (i1) i muid (iii)
(E) efem_ @ flwesleoemen

35. Which of the following is correctly paired?
(1) Keezhadi - Sivagangai District
(2) Vembakottai - Virudhunagar District
(3) Porpanaikottai - Tirupur District
(4) Keelnamandi - Thiruvannamalai District
(A) 1, 2, 4 are correct
(B) 2, 3, 4 are correct
(O) 1, 2, 3 are correct
(D) 1, 3, 4 are correct
(E) Answer not known

Slestau(meueoTeubhmleo 618 Fflwns & emesr&aUIuL_(HoTor &i?
(1) 1p1g. - Heussihicns el L b

(2) QaubusBaM_coL - Nl(HGHIHSIT TG L (b

(3) QubuemesT &G&HM_emL - SIIHUILLIT omeul” L b

(4) BLoBHS) S)(H62GTT GHTTLO GG TGIL_L LD

A)12,48f

B)2,3 4 &M

C)1,2,38M

D)134&M

E) eflomr_ @& flwefNeoemen

36. Statement 1: The Mahatma Gandhi National Rural Employment Guarantee Scheme in Tamil Nadu
currently provides employment to 92 lakh workers.
Statement 2: 79 lakh women are benefiting under this scheme in Tamil Nadu.
(A) S1 and S2 are correct but S2 does not explain S1
(B) S1 is wrong; S2 is correct
(C) Both S1 and S2 are wrong
(D) S1 and S2 are correct and S2 explains S1
(E) Answer not known

sabm 1 SWOIPHTL 1960 weETSLT &THE CHEl 2ars Gouemeo 2 MSls Sl L b sHEUTEH 92 6ol &b
@sidleomeniis61h & @ BGaemeveumiiiiy eupki&l eu(hSms).

s M) 2: SOIDHIL_1g.60 S5 LSHSl6dT H1p 79 601" &1b @GBS 6T LILEDT GL_S65T DGO

(A) S1obhmb S2 & <y eormed S2 60181 S1.82 6Slemd&eMeocmen

(B)$156umy: S2 Fflwineor gy

(©)S1obmib S2 Sredor(Hib Heumy

(D) S1wHmib S2 #f wiHmib S2 S12 efleré @G SmE)

(E) efem_ @ flwesleoemen
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37. Which among the following statements is not an objective of the "Chief Minister's Thayumanavar
scheme"?
(A) To identify and uplift those living in extreme poverty
(B) To provide housing to all rural families
(C) To meet the requirements of education and employment opportunities
(D) To rescue around five lakh of the poorest families from poverty
(E) Answer not known

Slesre(mibd &6 Hmisefleo 618 "(PGeocmwd&flesr Hmujwmeoreui S L GElr" GBmoHeD Sicoen?
(A) 861 eumycomLouiled eumpUEHTE DT SiemLLTeTD &6dor(h GLibu(hsEis 6o

(B) Siem601 6 81 Sirmoiym @& (HIbUkISETH &G 65 (Heu&SH) eulpihiE & 60

(C) s606f b mib Beusmeo eumiitiysefleir Bz omeus smertl 1y i &5 G1& g 6o

(D) 5 e01"_&1b aremipsds & ([Hlburkisemer eumienwuieSi(Hbg) B _ug

(E) oo @ flwesleoemen

38. Which of the following statements about the 'Kalaignar Magalir Urimai Thittam' is correct?

1) It provides Rs.1,000 per month to women heads of households

2) It benefits 1.15 crore women

3) An amount of Rs.13,720 crore has been allocated for this scheme in the coming year
4) Select the correct answer using the codes given below.
(A) Only 1 and 2
(B) Only 2 and 3
(C)Only 1 and 3
(D)1,2and 3
(E) Answer not known
B daciT_oubpicT s cweoE] ol 2 fleviog SI L ib b Bl e b piesoflcd o1 flumoor?

1)  S&FLLSSle &1 @uedor 2 mnSleoTis 6@ WIS €5.1,000 eupbisUUHISIDS)

2) 56T eyoold 115 BaiTg. UGS &6iT LWGOT 6oL UM & 6T

3)  eu(Bb A,60TIg 60 SSHS L SSDsns 13,720 Gamig epumil 8168 H @autiul_(Heirer g

4) &G Q&n(hHéssiul_[Herer @MHuThHasemert uwesTuhis S Fflwner uSlemensd Csiih01s [H&sa|b.
A)1obHmiib 2 w1 [HGw
B) 2w mub 3 w1 (HiGw
C)1ohHmuid 3 11" ([Hibd
D)1, 2whmib 3
E) eflom @sfliwueNeoemen

39. Which of the following statements about the 'Vidiyal Payana Thittam' is incorrect?
(i) It provides free bus travel to women
(ii) The percentage of women ridership has increased from 40% to 65%
(iii) On average, 50 lakh women travel daily in State Transport Corporation buses
(iv) The scheme has been extended to all hilly areas across Tamil Nadu
(A) (i) and (iii) only
(B) (ii) and (iv) only
(©) (i), (ii), and (iii) only
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(D) (iv) only

(E) Answer not known

efligwieb LwiesoTd SIL_L b ubH Ml BledTeu(BLd Far Hmuseifled 618 &6umiTeor g)?

(1) Guetor s (61h & (& Soveud BU(IHIHEI LIWEKTS 608 URIKIESID &)

(ii) uesors et uwenflseflesr &5655b 40 #5655 565165 (Hib &I 65 &5655WNE DiSlslsgieTen &l

(iii). owet CursEardss swsl Gummpbgsdfle Serwbh srmeflurs 50 col &b OGUGHIST UIGKHTD
@S esTmeoTit

(iv) 85SI_L1b HDIp&HID (P(REUGID 2_6iT6m Dem6oT S8 LD6meolILEGS1EEheE b eilfleuBhlssuur_[HisTers)
(A) (i) b b (iii) r_Gid

(B) (ii) whH b (iv) w1 [Hibd

(©) (i), (i) b mytb (iii) or”_Gid

(D) (iv) or”_Gid

(E) oo @sflweseoemen

40. Which of the following statements about the Chief Minister's Breakfast Scheme are true?
(i) It was inaugurated at Madurai in 2022
(ii) It currently benefits 15 lakh students
(iii) It will be extended to Government-aided schools in rural areas
(A) (i) only
(B) (i) and (iii) only
(C) (i) and (ii) only
(D) (i), (ii) and (iii)
(E) Answer not known
W aooemwEEfledr BTemeo 2_arayd S b ubH il SlesTeu(pd Fa mhmisefleo o1 &flwmeor&)?
(1) gIe®TUSIE 2022-60 EGMLHhISIUL L 8
(i) &5 65T ey ooid &HGUME) 15 GOL_&FID LDITEHT T & 6T UILIGoT 6oL S 63T M 60T
(iii) Srmouymiisafled 2_drer Dirs 256 Gumib usiteflesEhéE DL S lfleu@HissiupHibd
(A) (i) or_Hib
(B) (i) b o (iii) L {Hid
(©) (1) wHmb (ii) 1 Hib
(D) () (i) wpid (i)
(E) efem_ @ flwesleoemen

41. Assertion (A): The "Thozhi' working women's hostel scheme is one of the flagship schemes in Tamil
Nadu.
Reason (R): New 'Thozhi' hostels will be constructed in important cities such as Chennai,
Coimbatore and Madurai.
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true
(E) Answer not known
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g Hml (A): Cami ueflyflyb waefli e ([HSIG SI_L b OB 19 65T (peor@eorig & Sl L hiseifled PTG LD.
anrewid (R): @&cremet, Gamubysgi, wagieor Gursrm WwsSw parmsafle ySw Camdr eSHSlser
&L Uu(Hib.

(A)A) v mib (R) Sresor(Hid &fl wb o (R) stesrug) (A)dsmeor aflwreor 6Sleméaom @G

(B)(A) wHmib (R) Sresor(pHib &ifl peormed (R) e1681U8) (A)dsTeor Eflumeor eferdaibd Sicoeo

©)(A) sfl @ eormed (R) soum)

(D) (A) sougy weormed (R) &l

(E) efem_ @ flwuesleoemen

42. Which of the following is correctly paired?
(1) Moovalur Ramamirtham Ammaiyar Puthumai Penn Thittam - Promotes higher education
among girl students
(2) Uttachatthai Uruthi Sei - Provides nutritional kit to mothers of malnourished children
(3) Self-Help Group mission - Aims to disburse Rs.35,000 crore credit in 2024-25
(4) Transgender education initiative - Covers all educational expenses for transgender individuals
(A) 1, 2, 4 are correct
(B) 2, 3, 4 are correct
(O) 1, 2, 3 are correct
(D) 1, 3, 4 are correct
(E) Answer not known
Slest (B uGTTEUDH M6 618 Fflwns Semesor&aUILL_(HoTor &)?
(1) e ougpITy STTLMOITSD Sibemwwii Ygemll Guesor SI°_L b - resrellseflenL Gw 2 wiie ol
(2) ol L 65008 2 (HHSH Gs - 2’| 5585 @Goomun(herer @Gwihoossefledr sSmilomisendd
2011” L §&58 QUL 65608 aupibi@SImg)
(3) &w 2_seMs SR BWHSD - 2024-25 PId H600T19.60 01H.35,000 @aimigq &L UPhIG oIS CHTEHSIDNESE
@& 6T (H6iTor &)
@) Slpphicmasds ool WUHE - SBBhiOSSEELSSTET  Dlmodg sl Gl s e
2 drerL&&lug)
A)1,2,4 &M
B)2,3 4 &M
C)123af
D)1,3,4 &M
E) eflom_ @& flweMNeoemen

43. Statement 1: The Moovalur Ramamirtham Ammaiyar Puthumai Penn Thittam has led to a 34%
increase in the enrolment of girl students in the first year of higher education.
Statement 2: The scheme will be extended to girl students studying in Government-aided schools
in Tamil medium from the next academic year.
(A) S1 and S2 are correct but S2 does not explain S1
(B) S1 is wrong; S2 is correct
(C) Both S1 and S2 are wrong
(D) S1 and S2 are correct and S2 explains S1
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(E) Answer not known

sgamm 1 eweuepri TMOMOIsD Dibemwwmi ygemw Guesr S L b 2 wiscoeSlufledr (WpGHeo <,6somig 6o
wrerelsaiflesr G&iiécmauilen 34% MSsfliyse oudleEsss).

saphmn 22 SHHS sovallwnaorf (WwHd s 2 s6fil Qumibd uereflsefleo WO euduliled ug &GD
reoredls @G SHSIL b eflflejuhldsiupHib.

(A) S1wbhmib S2 & <peormed S2 o, eo181 S122 6fler da68606m60

(B)$156umy: S2 Fiflwineor gy

(©) S1wopmib S2 Sredor(Hid Heumy

(D) S1opmub S2 &M whHmib S2 S1e2 sflerd@ S ma

(E) oo @ flwesleoemen

44. Which among the following statements is not an objective of the "Chief Minister's Thayumanavar
scheme'?
(A) To identify and uplift those living in extreme poverty
(B) To provide housing to all rural families
(C) To meet the requirements of education and employment opportunities
(D) To rescue around five lakh of the poorest families from poverty
(E) Answer not known
Slesrau(pib &6 hmiseifled 618 "(P&Hevcomwd &flesr Smumeoreui Sl L &Sl GBMéeD Sicoe?
(A) 861 eumycmiouiled euMpPUEHTE D6 SieoLLTeTD &6dor(h GLoibu(HSHEisH 60
(B) Siemeor 6,81 Sirmotiym @& (Hlburkiseh s @b 65 (Heuss) eulprhiE s 6o
(C) s606f i mib Beuemeo eumiiiysafler B omeus emerts Ly i &5 Gliigco
(D) 5 01"_&1b aremipss @ (Hlitburiisemer eumiemouiled(mHibg) B ug)
(E) efem_ @sfliuesleocmen

45. Assertion (A): Tamil Nadu continues to maintain the pole position in the country in gross enrolment
ratio in higher education.
Reason (R): The Government introduced 7.5% horizontal reservation for Government school
students in professional courses.
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true
(E) Answer not known
sahml (A): 2 wiscoeiulleo Gonss Baidbons cH&HssHSleo B g BeoBw HBIDHT(H C&TLiihg (oot @sormig.
wibleowns Ebibg QIHSDE).
srreord (R): @smibacosil uquiysefleo ira ueiafl wrewreNisEHHE 7.5% HlovL bl L &L ©&IS6SL_ 6oL
D& AM(WPasUIL[HISSIG).
(A)(A) o (R) Sresor (i &M wbmih (R) sresrug (A)dsneor flwreor 6Slem&aLom @b
(B)(A) wH b (R) Sresorpiid &ifl Speormed (R) eredrUs) (A)dseor Efluner eferdsib Sicoeo
©)(A) sfl @eored (R) soupy
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D)(A) sougy Seormeo (R) &)
(E) efem_ @ flwesleoemen

46. Statement 1: The Moovalur Ramamirtham Ammaiyar Pudhumai Penn Scheme has increased the
enrolment of girls in higher educational institutions.
Statement 2: The Tamizh Pudhalvan scheme will provide financial assistance to boys who have
studied in Government schools from 6th to 12th standard.
(A) S1 and S2 are correct but S2 does not explain S1
(B) S1 is wrong; S2 is correct
(C) Both S1 and S2 are wrong
(D) S1 and S2 are correct and S2 explains S1
(E) Answer not known
sodm 1 epoeuepni oMoMBi&HD Sibemwwi ygiemw) Gueer S L b 2 wi sevell Hlmeuecorhisefleo Gluesor
GLibomssafles B&iidsoms o iSleflssiererng).
samhm 2 s yseveusst S L GHSlr Ep 6 WHo 12 b euGUY cueor Sir&al udraflsefled ug &5
AmiouisEnhé@ HS 2 56 euphistupHib.
(A) S1obhmb S2 & peormed S2 o, eo18) S122 efler d&68606m60
(B) $180umy: S2 #flwineor gy
(©)S1obHmib S2 Sredor(Hid Heumy
(D) S1obmub S2 &M wbHmib S2 S1e3 eflerd@ S ma
(E) efem_ @sfliuesleocmen

47. Which among the following statements is not an objective of the "Kalaignar Sports Kit" initiative?
(A) To provide sports equipment in every village panchayat
(B) To nurture interest in sports among youth
(C) To provide training for Olympic-level athletes
(D) To include equipment for cricket, volleyball, football, badminton, and silambam
(E) Answer not known
Slesreu(mib &6 hmis6ifleo 618) "&emeo@Ehii elememunt”_(h 2 _usTewTd" (YT WwhHEuflesr GBIésD Sicoeo?
(A) @63@6eunH Slamo 2ergm” Auflepib eSlememui”_ () 2_USTTRISBOT GULDIEIE)ES 60
(B) Soven epiimeflomn @G eflemermuim’_1q 6o Dyii6xs 608 6uerii & 60
(C) 6011918 Sremeeoneor eflememun’_ () 65iia o1 @ LLilhH & iefls o
D) SN&QsL., sruubg, Sreoubg, Loubs wHNID SHeobubd ASWEIHBIHESTET 2 _LIGT6o0ThI& cmeT
2 drerL&&hug)

(E) Moo @sfliuesleocmen

48. Match the Following:
List I (Initiative) | List I (Purpose/Feature)
(a) lllam Thedi Kalvi | 1. Establish world-class infrastructure for aquatic sports
(b) Chief Minister's Youth Festivals | 2. Bring dropout children back to schools
(c) Para-athlete sports centres | 3. Showcase artistic talents of young individuals
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(d) Tamil Nadu Olympic Water Sports Academy | 4. Enhance skills of differently abled sports

persons

(A) (@)H2), (b)3), (c)-(4), (A1)

(B) (1), (b}-(4), (©2), (dH3)

(© @4, (0)(1), (©3), (AH2)

(D) @)-(2), (b)(3), (c)(1), (d)«(4)

(E) Answer not known

Qu(H55Is:

ul1qwed I (pwbH &) |ur_1qwed 11 (@mréssid / Sub&b)

(a) Boveold BBlg sevef |1. Biieump eflememun” (H&EHEE 26065 ST euMibhe 2_6TsL_Lcowlienu 1H1nie|&6o
(b) waevemwsaflesr Sevenehi efipnéser | 2. SeoLblein Ghomssemer Beior(Hib udrelléE Diemwss!
6I(1H S 60

(c) umnm HL_&ar eflememu’_(h) eoWIhiSAT | 3. Sever @hlisafler &emevsd Slnonios et GevefliubHsgibhiser

(d) OB @6SlibS B eSlememwn’ () sl | 4. wrHms Soermefl eNememwi’_H) eSrisefer Hlmemeor
CubuhHiSsI50

(A) @)2), (b)3), (©)(4), (d)-(1)

(B) @)-(1), (b)(4), (©)(2), (d)-(3)

(©) (@)-4), (b)-(1, (1(3),(d)(2)

(D) (@)(2), (b)-3), (©)-(), (d)(4)

(E) eflemL_ @ g flwefeoemeo

49. Which of the following statements about the '"Makkalai Thedi Maruthuvam' programme is correct?
1) It aims to reduce the incidence of non-communicable diseases in Tamil Nadu
2) It focuses on controlling high blood pressure and diabetes
3) A sum of Rs.243 crore has been allocated for this scheme
Select the correct answer using the codes given below.
(A) Only 1 and 2
(B) Only 2 and 3
(C)Only 1 and 3
(D)1,2and 3
(E) Answer not known

& &m6eTSH Gl (S GIeuD Sl L b ub S SleTai(mb o b misefled 618 sflwimeor g?

1) slpssSle @amboT CHMisseT uTa|emss @mDUUEs S56T GHM&sWNE D

2) S8gl2 wi 855 PS5 whmib Filvle Erremws &L HuubHSsieuslco saicTb ClFwISSISIns
3) S5 LSShens 243 Bsing erumi 8168 [H GF iUl (HeTermg)

8@ Gsn(Hdsuiul_(Herer @mlufhHlssmert uwestuhisS) Fflwner uSlemeod Csiih0\s (Hd&&aD.
A)1oHmib 2w {HGW

B) 2 oihmid 3w (HiGw

O 1hHmub 3 1 [Hib
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D)1, 2wbmub 3
E) eflom @sfliweNeoemen

50. Which of the following statements about the 'Innuyir Kappom: Nammai Kaakkum - 48 Thittam' is
incorrect?
(i) It has benefitted more than 2 lakh people so far
(ii) The maximum threshold for availing free treatment will be raised to two lakh rupees
(iii) The free treatment is available for the first 72 hours post accident
(iv) It aims to save invaluable human lives
(A) (i) and (ii) only
(B) (ii) and (iii) only
(C) (iii) only
(D) (iv) only
(E) Answer not known
S eoreoyulli &TEUMD: Hbemnd HTEHEGI - 48 Sl b’ ubh il SlesTeu(pib so bhmusafled 618 &eumiteorg)?
(1) 8565t ey oold SHINEOT 2 601" &5 G165 @G GhHuL_ L Mi UwesT emL_HEI6iT6TeoTi
(i) Sovous &1&eme QUMICNSHBTET ASHBUL_& euTiby 36T (h) o1& eHUMUTE 2 Wi SUU(HID
(iil) Musb516G0 GIDE (P &H60 72 wewfl BHrsH Sl @ Sooans A&ldns HlooL &@Eb
(iv) @81 eflemeowSlIumm weollg 2 _ullisemerd sTiuTDHnICNEns CBNéeWNEE O8It (HelTerg)
(A) () H b (i) w1 [Hib
(B) (i) b gyib (iii) or”_Gid
(C) (i) or"_Hid
(D) (iv) bL_Hid
(E) efem_ @sfluesleocmen

51. Which of the following statements about industrial development initiatives in Tamil Nadu are true?
(i) India's first PM-MITRA Textile Park was launched in Virudhunagar district
(ii) SIPCOT will establish a new industrial park near Sengipatti in Thanjavur region
(iii) A Space Industrial and Propellant Park will be established in Thoothukudi district

(A) (i) only

(B) (i) and (iii) only

(C) (i) and (ii) only

(D) (i), (ii) and (iii)

(E) Answer not known

SWOIDBITL 19 60 @5MIHled aueriié &l (wib st ubh il Gesreupid sa Hmisafleo o1& &flwmeor g?

(i) @pSwnefleir (g0 PM-MITRA gpayefit iy s sSlpgimbsi womeu” L Sled Qam_hisiul L g

(i) HEhEMQLT 6T Hleo @FmSIIUL1g SiHEs Sism Hinelerd @ uSw @smpled L hisTeney
DI6OD & GHD

(iii) r&s1HG 1. e’ L& Sled aflesor @euafl QsmPIHETemeo hHmIb 2_bhGIFsH S L hisT SicndaliupHib
(A) (i) or_[Hid

(B) (i) b muid (iii) or”_[Hid

(O (1) H b (ii) 1_[Hib
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(D) (1), (i1) i muid (iii)
(E) efem_ @ flwesleoemen

52. Assertion (A): Tamil Nadu is a favoured destination for progressive investors.
Reason (R): The state has the highest contribution to the number of women working in industries
in India.
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true
(E) Answer not known
sabml (A): whHBUTEE (WPHSL_LaTisehé@E SWOIDHT([H @5 6N BUILSSlhE i SL_rEb.
asnreoord (R): @pSHlwrelleo @amdlberemevsaileo ussliyflyn Guesoraeficsr o1etorenfldcmauilco &g wmbleob
S18ls ubisefllionud @& esor (HleiTor g.
(A)(A) i mib (R) Sresor (hid & wbHmub (R) eresrugy (A)dsireor flwireor sfleméason@ib
(B)(A) wH b (R) Sresorplid &ifl peormed (R) e16d1U8) (A)dsTeor Efluner eferdsid Sicoeo
©(A) &fl @ eormed (R) sum)
D)(A) sougy weormed (R) &
(E) efem_ @sfliuesleocmen

53. Which of the following is correctly paired?
(1) NEEDS - Rs.101 crore subsidy assistance
(2) Global Start-up Summit - To be hosted in Chennai in January 2025
(3) Periyar Social Justice Venture Lab - Focus on start-ups led by marginalized sections
(4) Industrial Innovation Centre - To be constructed in Coimbatore
(A) 1, 2, 4 are correct
(B) 2, 3, 4 are correct
(C) 1, 2, 3 are correct
(D) 1, 3, 4 are correct
(E) Answer not known

Slestau(meusoreubhmleo 618 Fflwnes & emesrsaUIuL_(HoTor &i?

(1) Bpemeussai - 15101 @&ig. Moot 2_g6f

(2) 2_cvsemmedw soLmit-i0 2_&8 wrk ([ - 2025 speorauflulleo G 6T emeorudled BHL_&sUILHID
(3) @Quiflwmi sew & BE) Gleuciré & Gooll - efleflibblemeo SlfleSleorii &emevemipulleomest eoL Ml it Bg) seveorid
CFe5 51560

(@) @5MdledgIcmD U STés sowwib - Bsmubysgmifled &1L UuL_ajeTers

A)12,48M

B)2,3,4&M

O1,2,38M

D)1,3,4 &M

E) efleoL @sflwueScoemeo
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54. Statement 1: The Government will introduce a special scheme to incentivize additional women
employment in the State.
Statement 2: The scheme will offer a payroll subsidy of 10% of the salary of women, differently
abled and transgender employees for two years.
(A) S1 and S2 are correct but S2 does not explain S1
(B) S1 is wrong; S2 is correct
(C) Both S1 and S2 are wrong
(D) S1 and S2 are correct and S2 explains S1
(E) Answer not known

saHm 1 IHevsS60 Fa (Hgd CuHET Garmevaumilicnu 2uasb@elliughaner Aniysd S L s Sirs
SIPIWPHEIUHS GHID.

sahm 2 BHs S L b Guesorse, b misSlmeorneflser whHmib S(mHbhkicns e dlwisaflesr sbuermdsled 10%
S 6007 () <6007 (H & (615 8 (& 261 SN TGOTILS DS QIIBIEGD.

(A)S10Hmid S2 &M Speormed S2 60181 122 efleméa6flcoemen

(B) $186umy: S2 #flwineor gy

(©) S1wopmib S2 Sresor(Hid Heumy

(D) S1wHmib S2 #f wiHmb S2 S183 efleTd @GS D!

(E) efem_ @sfliuesleocmen

55. Which among the following statements is not an objective of the new Cancer Management Mission?
(A) Creating awareness about the incidence of cancer
(B) Early detection of cancer
(C) Effective treatment of cancer patients
(D) Providing free cancer treatment to all patients
(E) Answer not known

Slesrau(mib Silbemasafleo o184 uSw ybHmIGBMD Georesor soio Wiagefletr GhHmésid Dicoeo?
(A) yb mBmrmi) Hlapey ubh Hiw eNPIIYyesTT M6 arHUHS BI 60

B)ubmiBpTemw peirse 19 G &6dorLHlg 60

(C)ub mBmmiy Gpmunefla (e é@, Lwssyerer HSHEcna

(D) Siemeor 6,81 @pmuneflss omd @b Seocus UbHmIGHML 518 cnaemiu eulprhiE & 60

(E) eSlemL_ @5 flweNeosmoo

56. Match the Following:
List I (Initiative) | List II (Location/Purpose)
(a) Integrated Textile Park | 1. Virudhunagar district
(b) PM-MITRA Textile Park | 2. Salem district
(c) New industrial park by SIPCOT | 3. Sengipatti, Thanjavur region
(d) Space Industrial and Propellant Park | 4. Thoothukudi district
(A) (@)(2), (b)A1), (©H3), (d)(4)
(B) (a)«(1), (b)}(4), (c){2), (dH3)
(C) (@)-(4), (b(1), (©(3), (dH2)
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(D) (@H2), (5H3), (D), (d14)

(E) Answer not known

QUT(H55I8:

ul_1qwed I (pwhH &) |u_1qwed I1(SL1b / @Brssib)

(a) UpBISlcmeuThs spoefl L bism [1. N &IBSHIT omeU L (D

(b) PM-MITRA seoyafl i s | 2. B&ooib womeu”_1_ib

(0) 8lusm” HimieueorsSler S QSTIHIEL L s | 3. GlEhISIIUL_Iq, 8§ ©EHFTEY I LD6TL_60LD
(d) eflesor Qeueifl QB MPleLSIEHM WHMID 2_HEIFSES L BT | 4. HT1E5IEHE!9. DT _L 1D
(A) @)(2), (b)-(1), (©)-(3). (d)-(4)

(B) @)-(1), (b)(4), (0)(2), (d)-(3)

(©) @}4),(b)-(, (c)3), (d)-(2)

(D) (@)2), (b)3), (©)-(1), (d)(4)

(E) eflemL @ g fleeoemeo

57. Find the Mismatched Pair
(A) New industrial estates by TANSIDCO - Ottanchathiram, Manamadurai, Thiruthuraipoondi
(B) Industrial complex with plug and play facilities - Kurichi Industrial Estate, Coimbatore
(C) Industrial Innovation Centre - Madurai
(D) Micro Cluster Development programme - 8 clusters with common facilities
(E) Answer not known

QuBHSTEH Geariq mws &esor_ M b

(A) Bly, @QsmHlibGUL_emL_ser Ltesrerdl_Gasim - 61 L6518 S SITID, o GoT LD §160T, S (155 &I 6mIT UL, 65oT1g.

(B) Glomés 1eor1”_ 11@oIT 6u& S8 (61HL_6OT F6r.Lq W QBMDIE0 GuETTHID - & MIEFS CBTPIHBUL_coL, BHMLIbDLS ST
(C) @smHled yshGT&8 OWID - LDGICOT

(D) mistor @ 1gwo Gobum”_ (i S Lib - QNS 616 l&OTHL_GST Ser1q 1L 8 @ (LRLOMhISET

(E) efem_ @ flwesleoemen

58. Which of the following is true about Tamil Nadu’s Artificial Intelligence Mission?
(1) The mission aims to utilize Al in education, employment, and industry.
(i) Al guidelines will be developed by leading professors and experts.
(iii) It focuses exclusively on the medical field.
(A) (i) and (ii) only
(B) (ii) and (iii) only
(C) (i) and (iii) only
(D) (i) and (ii) only
(E) Answer not known
SOIDBTL 19 651 @&FIWIH 608 [B6vor coor Hley SI°_L b Urh HI 2_68oT6mLD 61817
(i) &ovefl, Gauemeveumiitiy wHmib @sMHleogiemmuilco GEwIHens B e Hlemeauls LWETU[HIS SIS Sibs
Bws s Chrésonssd 06T esor (HoTor g).
(i) @Fwphemns meoTedley eudler [Hisoosdr orerafl GuimSfluiser wHmId Hlyswriserted

2_(Heum&&UU(HID.
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(iii) B8 LEHS GIouS HiommuSled 1" (HGW HeussTd CIFMISH SIS
(A) (i) b mib (i) 1" Hib

(B) (i) o mytb (i) o1”_[Hid

(©) (i) b b (jii) tor_Gid

(D) (@) wb b (ii) w1 Hid

(E) oo @ flwesleoemen

59. Which among the following is not a feature of the e-office project?
(A) Simplification of Government procedures
(B) Skill training for employees
(C) Free internet services in government offices
(D) Provision of hardware and software products
(E) Answer not known

SlesreucpeusoTeub dled e18) e-office S L gSHledr Db&Fib Sicoco?

(A) Sip8: HEvL (P EODEEET eTaflemoliubhSSis 60

(B) 2enPlwiiss e smeor Simedt LuGiH &

C) oma &y&lmasrfuasaﬂs'\) B oo6us Sememril G & omeud6ir

(D) sussr@unpeir wiH mIb G 6T GUTIHET HWITFITILIE EHET CUPMHIESH60
(E) eflem_ @sflwesleoemen

60. Which of the following statements about Tamil Nadu's industrial performance is correct?
(1) Tamil Nadu has the most industrialized economy in India.
(ii) The state is home to over 45,000 registered factories.
(iii) Tamil Nadu ranks first in terms of industrial output in India.
(A) (i) and (ii) only
(B) (ii) and (iii) only
(C) (i) and (iii) only
(D) (i), (ii), and (iii)
(E) Answer not known
SIDBTL 19 61 @5 Mlebgiemnm GsweoSlmest ub i SleTau(mb sa.Hmisafled 618 &iflwmreor &)?
(1) @HSwneflBeoBw Sls G mléowiwinTeT CUMHOTTSTTS ™S SOIDBT(H O\ 6sor (HeiTen .
(ii) wmbleog Sleb 45000 &@&b GuhHul’ L uSley @FuiUL_L Q&MlbHETem6086T 2_6iTereoT.
(iii) S Swrefeo @QsMHled 2_HusSlulled HODHT(H (WHESIL b uSl&SSDS.
(A) (i) b gy (i) w1 Gib
(B) (i) g gyuib (iii) or”_Gid
(©) () whH o (iii) 1”_[Hib
D) (). (ii) Lob gyib (i)
(E) eflemL_ @5 flweNeocmoo

61. Assertion (A): Tamil Nadu is a leading state in electric vehicle (EV) production in India.
Reason (R): The state manufactures 70% of India's electric two-wheelers.
(A) Both (A) and (R) are true, and (R) is the correct explanation of (A)
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(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)

(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

(E) Answer not known

ga Hm) (A): lesrenT eunseor 2_HusdSlufleo SHEHwreSGeoBw sWIPHT(H (Yoot @eormig. wrbleownss SlanSnE).
asnreoord (R): @hSwnellesr leorenr Sm F&H5T ounseoThiseifled 70% &b wHleob 2_Husk S CFLSDS).
(A)wHmid (R) Sresorpio &, wibHmib (R) eterugy (A)dasmeot sflwmest 6Slerm &&Lom @b

(B)(A) wHmib (R) Sresor(plid &if), Seormeo (R) sredrug) (A)dasneor aflwimeot eflem&asib Sicoco

©)(A) &Ml ey eorieo (R) soumi

(D) (A) sougy weormed (R) &l

(E) efem_ @ flwuesleoemen

62. Which of the following initiatives are part of Tamil Nadu's Electronics Manufacturing strategy?

1) Development of Electronics Manufacturing Clusters
2) Attracting global investors in semiconductor manufacturing
3) Establishing Smart Cities to integrate electronics systems

Select the correct answer using the codes given below:

(A) Only 1 and 2

(B) Only 1 and 3

(C) Only 2 and 3

(D)1, 2,and 3

(E) Answer not known

Slestau(mb (wbhEserfled 618 SWOIDHTL L6657 WlesTeoTamy 2 Husb Sl 2 &Sullest (1 UGS GID?
1) Wleteara 2 HusSld CHTEGULS 6T 2_(HEUTE S0
2) GODEHSLEHS) 2 HusSlutleo 2_cosemmeliu (WSS _LM6ImIT& emer FFi & &e0
3)  Dl6bTGoT G DHEBOLUILIS GO G (IS 60T 58 GVIDMITL [h&ITThIS 66T (Bl Mi6) 560

&G Gsn(Hdsuiul_(Herer @MlufhHissmert uwesTuhisS) Fflwner uSlemeod Gsiih01s (Hd&aD:

A)1obHmib 2 w1 [HGw

B)1w0ihmid 3 1" (HGw

C) 2 b mub 3 1" [HGwW

D)1, 2whmub 3

E) eflom @sfliwueNeoemen

63. Which of the following statements about Tamil Nadu's green energy goals is correct?
(i) The state aims to generate an additional 100 billion units of renewable green energy by 2030
(ii) A new Green Energy Company has been established to implement various green energy projects
(iii) 32 MoUs were signed for setting up 18,429 MW of green energy sources during a recent Global
Investors Meet
(iv) Permission has been granted for generating 2,570 MW of green energy power
(A) (i) and (ii) only
(B) (i), (ii) and (iii) only
(C) (ii), (iii) and (iv) only
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(D) All of the above
(E) Answer not known

SWOIDBITL 19 651 ugiemio oTflEsS) Sovd@sar ubhmlu KlesTeupib sa Hmisafleo erg) &flwmeor gi?

(i) 2030 Wb WEHTHEGT Fo(hsoons 100 GleveSlwesr weofll yHINGESESS556 LS HHMHEDED
2 _(HTHGHIS AT CHrésnsd O1sT e (Hlerers)

(i) uoBoum) UG e F&HS S LG cmer @FIWOUHSS 0 (1H USIU usioo &&5 Hmieuet b Hlmieuiiul_(HeTers
(iii) Sevoremwouiled HeL QUMD 2 6086 (PSHESL_LMeMF&6T BT 1q60 18429 G&smeun’ ugem erflEdhs)
S SNTHIS W Dicminde 32 Lflibgiewria| sUUbShISH6T eSS UL L cor

(iv) 2570 Q&TEUML U 6D SO 2_HusS) Gl SIS euphiIsIUL_(HeTeTs

(A) (i) b mib (i) w1 Hib

(B) (i) (i) b mytb (i) o1”_ (b

(©) (i), (iii) oD myd (iv) L [Hid

(D) BoBev 2_direr Sicmeor & gitb

(E) Moo @sflweseoemen

64. Which of the following is NOT mentioned as a major aim of Tamil Nadu's coastal restoration
mission?
(A) Enhancement of coastal biodiversity
(B) Coastal protection
(C) Improving livelihoods of coastal communities
(D) Expansion of fishing activities
(E) Answer not known
OB 1960r  &LGoorr  &reowliy Sl LsSedr pé&&Hw Goréswns SleTau(poucTeubMdlcd 68
GDOISILOuL_6flédemen?
(A) Beor@uinr ucoapufli CUHEHSEH s GLIbU(H S 8IS0
(B) semr@uimrts ungsmiy
(C) aeor@uiny Fepshisaflesr eumpeunsnrsdens Gubuhssiseo
(D) Betrlg. BL_6u1q & 6088 6men eflifleyu(hs &1g60
(E) eSlomL_ @ flweNeosmoo

65. Assertion (A): Tamil Nadu stands out among all States in India for its rich biodiversity.
Reason (R): The Tamil Nadu Government has decided to establish an Endangered Species
Conservation Fund with a corpus of Rs.50 crore.
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true
(E) Answer not known

gaHml (A): euemoneor 2 ufiitiuecstemiwwimed S wmbleohiser SienersSHED Gueors SOIDBN(H Heoflss)
BlH& !
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snreord (R): sblpmr(H Siws en.50 Gang @sr@uy Bl Spussner 2 ulifleriiser urgismiy HlEwib
Q65T aHUbHISS (PLe.6| C\FILSICTET S

(A)A) v mib (R) Sresor(Hid &fl wb o (R) stesrug (A)dsmeor aflwreor eSleméaon @b

B)(A) wb b (R) Sresor(Hio &M <peormed (R) e1adrug) (A)dameor flwne eflemésid Sicoeo

©)(A) sfl @ eormed (R) soum)

(D) (A) sougy weormed (R) &l

(E) eflom_ @ flwesleoemen

66. Which of the following beaches is NOT mentioned in the list to be developed for obtaining Blue Flag
certification in Tamil Nadu?
(A) Marina in Chennai
(B) Ariyaman in Ramanathapuram
(C) Kameswaram in Nagapattinam
(D) Rameswaram in Ramanathapuram
(E) Answer not known

SOIDBI 1960 Beod0ang sTeaTdIH) QuIeNsHeETs 2 (HourssiiuL Geuedrigw Ul 1qwedled Slerai(pb
&L Hemrsafled ergl @mMIuGItiuL_efeoemnen?

(A) GQufleor- O\& 65T 6H6OT

(B) @flwionebr- mmomrsymD

(C) sn@eioeurib -HT&IUL_Lg. 60TID

(D) &an@ieiveurid - Srmipeot STymD

(E) efem_ @sfliuesleocmen

67. Which of the following statements about Tamil Nadu's environmental initiatives is incorrect?
(i) Tamil Nadu Climate Change Mission has been launched
(ii) 15 new Ramsar wetlands have been declared
(iii) 5 new sanctuaries have been established
(iv) Sea turtle conservation centres will be established in all coastal districts

(A) () only

(B) (ii) only

(C) (iii) only

(D) (iv) only

(E) Answer not known

SONDIHITL 1 65 &1 NI Folpcd (PwiHE®T ub Hlw SlebTeupLd For hMIs6Tled 6151 HeumteoT 51?
() SIBPEIE UeuBae LTDHDS S L b B isiut Gerens)

(ii) 15 ySw grbemi FrTHlooiser iMdleSlbasLIuL(HeiTereor

(iil) 5 ySw FxesoTTEOWIHIGET Bl MIENIUL_(HeiTemeor

(iv) 1emeor & 81 L_BeomT eyl L hiseflepib &L_60 <, OIS 6T UTGISTUIL| 6OLWIBISET SHemLo&&EUIU([HID
(A) (i) or_Gid

(B) (ii) or"_{Hid

(C) (i) or"_[Hid
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(D) (iv) wr”_Hid
(E) efem_ @ flwesleoemen

68. Which among the following statements is not an objective of the "RIGHTS Project” for differently
abled persons?
(A) To provide comprehensive services in their vicinity
(B) To generate suitable employment opportunities through vocational training
(C) To provide home-care treatment to severely affected differently abled persons
(D) To establish a Centre of Excellence for Persons with Autism Spectrum Disorder
(E) Answer not known
Slesreu(pid &a Hmusseifled org) wmbmd Slweormafls@epsasner "2_flemwaser Sl L &Sleir" Gnmésb Dicoco?
(A) Sioubdlest Sipamenuieo efifleureor G& 606186l CULDIhIE)S60
(B) @smdib vuSlihH A eeotd GUNHSGWMeoT BEucmED CUMILILILIE G 2_(IHEUITEE G600
(O s([Hevwwns utHésuul_L wrbHnisSmerreflasend@ oS (i) urmoiluy H&H&Femes eflsseo
(D) 1" 198D 6o@uEL_Mb @& eomur(h) Q&TeTL HUIis Eh&&TeT SMUY eoowib soesTemm Hlmie 560
(E) eSlomL_ @ flweNeosmeo

69. Assertion (A): The Tamil Nadu government has urged the Union Government to undertake caste
census along with the national census.
Reason (R): The government is committed to the cause of social justice and has been a frontrunner
in implementing various welfare schemes.
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true
(E) Answer not known
sgahm (A): Gl wEHEHHT CBTELE GaresEOsHUYLGT srdHenfl &ewrd0shHusouyb Gohestdrer
@ouetor (b 6165 M) WSS T HOIPS & cuediymid Slieror g.
smeod  (R):  seps BHésrs ows 2 miSlycr@ererg whmib uBam BeoSSI L hisemer
@&weu[HSGIouSleo (PesTGeoTTiq T 2_6TeTg).
(A)(A) b mib (R) Sresor (v & wobHmubd (R) eresrugy (A)dsireor flwireor sfleméason@ib
(B)(A) wH b (R) Sresorpiid &ifl peormed (R) e1681U8) (A)d&Teor &fluner eferdsib Sicoeo
(©)(A) &fl @ eormeo (R) soumy
(D)(A) sougy <peored (R) &1l
(E) eSlomL_ @ flweNeosmoo

Which of the following statements about the 'Makkaludan Mudhalvar' initiative is correct?
It aims to deliver services to people at their doorsteps

It resolves public grievances in under 30 days

It pertains to 13 key departments with high public interface

Select the correct answer using the codes given below.

(A) Only 1 and 2
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(B) Only 2 and 3

(C)Only 1 and 3

(D)1,2and 3

(E) Answer not known

1088 (OTHLGOT (PG evaui” (L 65T @eorT (HUiy ubHmlw SledTex(pLD Far b musefled 618 Fflwimeot &i?

85 &EEHEHE Douisefle 6fiL_(H aurgedled & omeusemer kG IS ChT&sNES ©\8T 68 (HeTors)
&5 30 BITL_&(61H &G 6T GUNGHI &Sl @mmascmer SisSms

£5113 (WP&EU HImDEEHL 6T SiSls uNg @STLiTL C\&T6ooTL &)

&B GsT(HssUUL_([Herer @&MluT(Hissmert wesTuHiSS) Fflwner uSlemood Csiih0\S (HEH&HMD.
A)1obHmibd 201" HGw

B) 2 i mib 3w (HiGw

C)1Hmid 3 1" (Hid

D)1 2whmb 3

E) eflom_ @& flweMNeoemen

70. Which of the following statements about the 'Ungalai Thedi Ungal Ooril' scheme is incorrect?
(1) District Collectors set up camp in one Taluk for one day every month
(ii) Collectors conduct field visits and inspect Government Offices
(iii) The scheme ensures welfare schemes reach only urban areas
(iv) It involves direct interaction with the public to understand their needs and grievances
(A) (i) and (ii) only
(B) (iii) only
(C) (i), (ii), and (iv) only
(D) (ii) and (iv) only
(E) Answer not known
'2_hisemerd Bslg 2 hiselr 2erfleo’ Sl b ubHdlu Glesreu(pid se bHmusafled 6181 &oumimeot g1?
@) wre’ L 1 S SemeoaisHeT RGIGCIT(H WIS ®UH BT RUH STMISHTNI UPSTD DieDES
@eueoor (Hib
(ii) reu” L 1" 85 &emeoauiser semiuwesrd GohH @ &ITeiT (i) I8 SIeI6NcVSHIS 6T WIiIe| C1FLISH0
(iii) Boo S SI°_L s 6T BaTULMIEISOH&E) WL (HGW GIFSTDHNL Nems SHSI_L b 2 miS QsuSns
(iv) @Qunginssatletr Gsomouser wHMID Gommasemartl UflbsIO&ETaTOISHETS DauisEnLT BbIgs
QBLfemu &gl 2 drerL_&Shwsg)
(A) (D) b (if) 1 [Hid
(B) (iii) ”_{Hib
(©) @), (il) HmId (1v) LI (HIb
(D) (ii) wiH g (1v) w1 (Hid
(E) efem_ @sflwesleoemen
71. Which of the following statements about law and order in Tamil Nadu are true?

(i) Tamil Nadu has remained a haven of peace over the past three years
(ii) Cities in Tamil Nadu top the list of cities safe for women in the country
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(iii) A new mobile application named 'Smart Kavalar' has been introduced
(A) (i) and (ii) only

(B) (ii) and (iii) only

(C) (i) and (iii) only

(D) (i), (ii), and (iii)

(E) Answer not known

SWOIDBIL_19.60 &1L b (ki@ U BlesTaupib sar Hmisaflcd 618 &iflwimeor g?

(i) BB (H) BL1HS e 65T DT 6IoT (HEBOTTE DicrSl | hisTanss Slshonsg

(i) mrmliged O@UETHEHHE UTHISTUIUTET hH&ThS6TlT UL Lqwedled HWlpssSlcd 2 drer HeNhs6T
WAL Sloo 2_eierreor

(iii) ‘erowmiL" smeucoli’ 61651 YSHIw 6&BuS @FW6S! Sl &EUIUHISSIUL (HeTerg)
(A) (i) i mib (ii) w1 i

(B) (ii) b myth (iii) or”_Hib

(©) () whH b (iii) L Hib

D) @), () b g (iii)

(E) efem_ @sflwesleoemen

72. Assertion (A): The Government of Tamil Nadu has introduced the SAMADHAN Scheme.
Reason (R): The scheme aims to simplify the process involved in recovery of tax arrears from traders
in the State.
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true
(E) Answer not known

sahm) (A): HIps s FWHTET S LS AD(WPHILHIS S eren g,

smreord (R): wrbleosSed 2 erer  euefiaiseflblmbg ofl Hopomens OsTemscmL  6u8,68sE b
@&weod(emmenu eTaflETEEG8H SBHEI_L & Slesr Gpmésaon@EGb.

(A)(A) o (R) Sresor (i &M wb o (R) stesrug) (A)dsneor flwireor eSlem&aom @b

B)(A) wH b (R) Sresor(Hio &M peormeo (R) e16drug) (A)dsmeor flwne eSlemésid Sicoeo

©)(A) &M ey eoried (R) soumi

(D)(A) sougy weormeo (R) &l

(E) efem_ @sflwesleoemen

73. Which of the following is correctly paired?
(1) CCTNS 2.0 - Web-based system for online complaint registration
(2) STAR 3.0 - Scheme for modernization of prisons
(3) Smart Kavalar - Mobile application for citizen safety
(4) Makkaludan Mudhalvar - Scheme for resolving public grievances
(A) 1, 3, 4 are correct
(B) 2, 3, 4 are correct
(C) 4, 3, 2 are correct
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(D) 4, 1, 3 are correct

(E) Answer not known

LY edTeumeusoreummlev 618l FifILIME @)6m600T8 8 LILIL (H6Terms?
(1) CCTNS 2.0 - Somemrweudl ysmi uHleydETeoT 66T g UKL USlEOTEsT SiemUIY
(2) 6hoLnif 3.0 - Hemm & &FT6me08 cm6r [HeSieoToWwIDN&ED Sl° L 1b

(3) 6IOOTFL STGUGIT - @LY DS 6T UTGHISTUL &S 6T GILDT6mUGDd Llu.la'srurr@

(4) &8 EHLGT (WHovaT - UM G &S6TST @ mnameTs Sid@Eb S Ib
A)1,3,4 &

B)2,3 45

C)4,3,28M

D)4,1,3 &M

E) eflom_ @& flwefNeoemen

74. Which among the following statements is not an objective of the collaboration with IIT Hyderabad
by the Commercial Tax Department?
(A) To increase revenue realization
(B) To identify tax evasion
(C) To combat tax evasion
(D) To implement new tax policies
(E) Answer not known

SleTeu(pb BiMld s soifled 618 22.82.1q. CHAMSTTUTSGIL 65T eueflas cufls giemmuwimed & sIemUslesr GpTdesb
160607

(A) eumeumis Fr’_L_emeo DiSla 6860

(B) cuifl griiiemu SDicoL_WN6TD &iT6sor

(©) aufl qiiemus B[HE&S

(D) uHw eufld Q&I & MO DiEoU(H S G160

(E) eSlomL_ @ flweNeosmoo

75. Which of the following is true about Tamil Nadu's achievements in various sectors?
First in the country in Export Preparedness Index
First in the country in Gross Enrolment in Higher Education
First in the country in the number of educational institutions ranked high in NIRF
Select the correct answer using the codes given below:
(A) 1 and 2 only
(B) 2 and 3 only
(C) 1 and 3 only
(D)1,2,and 3
(E) Answer not known

ucbBaumy Glemmasafleo SOl SSledT &g emeot seifled Sl6dT61(IHeU6ET G MIEIT 6T8) 2686t GMLD?
abmiwsl swriblemeo &M g 6 B 1q GeoGw (P&56SILb
2_wifseoeSluliléo @ns s wrewrani G&iidemeulleo B 1g eoGw (W &6SIL_b
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6T60T.82. i .61:1 6o 2 wii Hreuflemaulieo 2 oirer &evel Hmieucoriisefler orevoranfldomauileo BT 1q BeoGw
Wb

&Q@ Gsn(hssuiul_(Herer @mluThHissmert uwesTuhisS) Fflwner uSlemeod GsiithO\s (Hda&aLb:

A)1oHmib 2 S Siredor (Hid

B) 2w miib 31" (Hid

O 1obHmub 3 S Siredor (Hid

D)1, 2wbmub 3

E) eflom @sflweNeoemen

76. Which of the following statements is correct regarding Tamil Nadu's fiscal strategy?
(i) Maintaining the Fiscal Deficit to GSDP ratio at 3% from 2023-24 onwards.
(i) Additional borrowing of 0.5% of GSDP contingent on certain sector reforms.
(iii) Keeping the outstanding debt to GSDP ratio within specified limits in 2024-25.
(A) (i) only
(B) (ii) only
(C) (i) and (ii) only
(D) (i), (ii), and (iii)

(E) Answer not known

SWOIDBTL 19 667 S 255 QL iureor Slesreu(mib &o Hmyserfleo orgy Fflwimeorgy?

(1) 2023-24 b Wevor(l) W0 HSI uHDTSEEGmDemW wITHled GTSs 2 Husbsl WSHINGI0 3 F56855S5l60
urmoifl& & 60.

(ii) Blev g1 FiHl(155 Hhismer & EMibHG WHleo G s 2 HusbS) EINGI0 0.5% s (H&60 HL6T CIUMIGH6D.
(iii) 2024-25 b Y&oTI9.60 WMHled GISS 2 HusS WG Hepiemeuuileo 2 drer &L emer @GMINGEI" L
GUTIDLIS (0TH & &H6T 6uSS|(1H5 560.

(A) (i) L_(Hid

(B) (i) or”_ (b

(©) (1) whH b (ii) 1" Hib

(D) @), (i) Db (iii)

(E) eSlomL_ @ flweNeosmoo

77. Which of the following statements about revenue projections is correct?
(i) State's Own Tax Revenue (SOTR) is expected to grow in 2025-26.
(ii) Growth rates of SOTR are projected to rise steadily in the coming years.
(iii) Non-Tax Revenue will also see a slight increase due to improved collection efficiencies.
(A) (i) and (ii) only
(B) (ii) and (iii) only
(C) (i) and (iii) only
(D) (i), (ii), and (iii)
(E) Answer not known
eupeumi sewiitiyser ubHHlw SlesTai(Bb sa b msafled org) &flwireorg?
(1) rHleos Sleor C&FMHS culfl QIHEUMLLI 2025-26 1D 6807160 SiFl&Hl& @D 61601 M) THITUTTSSEIUHISIDSI.
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i) wrbeosslesr @smbs aufl eumeumis N&Sshmser aupb WaorHseflco Fms = wHD ereTM
erSliumisstubhSns.

(iii) eufl cug, 60 Slmemeor GibuHSGHIuBTEL cuifl Bicoeors euHeuMD HBISH6eTery 2 W(THD.

(A) (i) b mib (i) w1 i

(B) (ii) b mytb (iii) oL [{Hid

(C) (1) b b (iii) o1 {Hid

D) @), (i) b mud (iii)

(E) efem_ @ flwuesleoemen

78. Assertion (A): Tamil Nadu has achieved higher growth in the last year compared to the national
average.
Reason (R): Progressive policies and increased investments have contributed to this growth.
(A) Both (A) and (R) are true, and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)

(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

(E) Answer not known

sabm (A): Gpflu smmefloow @UlHemasuleo SOIDBIH &SLHS eoriged DiSls  euerisdHomw
SI6OL_[HGIET6I G,

amgeoid  (R): phBunssrer Osmetemssdr wHmb ASefdHs WsSHodr SBHe coTissles
urbisaiflé gleirerr cor.

(A)whHmibd (R) Sredor(id &), obHmuid (R) eresrugy (A)dsireor sflwineor sflemdsion@id

B)(A) wh b (R) Sresor(Hid &, <eormed (R) sresrugy (A)éssmeor Eflwimeot 6Nemd &b Dicoeo

©)(A) sfl @peormed (R) poumy

D)(A) sougy weormed (R) &l

(E) efem_ @ flwesleoemen

79. Match the following terms with their correct descriptions:
List I (Term) List II (Description)
(a) Fiscal Deficit 1. Difference between total revenue and total expenditure
(b) Revenue Deficit 2. Spending on long-term infrastructure like roads, bridges
(c) Capital Expenditure 3. Shortfall covered by borrowing
(d) Debt to GSDP Ratio 4. Proportion of debt in relation to the state's income
(A) (@)-(3), (bA1), (2, (D)(4)
(B) (2)«(1), (b)(3), (c)H(4), (dH2)
(C) (a)H(2), (b(1), (c)H3), (dH4)
(D) @H3), (0)(4), (1), (D)(2)
(E) Answer not known
SlesTeu(pd G\&FmhHE smer euhilest Fflwimest eflem &&his (oL 65T CIUIT(HS 5165:
uqweo [ (uapeub) L Iqwed 11 (efler&a1b)

(@) BISIY ubDTEEGH M1 CLTSS QBT ED OS5 E ClFe6e)&E D 2 _drer Geumu(h
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(b) uamit ubPTEGEOD 2. FTENEV&ET, UmeohisaT GuTeTm fBedrL&Teo 2 6iT&1_ L ool & (e1h &)
@&ovefl(Ha 6o

(c) epoosoor BFLE| 3. HLGT QUITTEIEG6USHET e ovld arHU(HID UHMITEE DD

(d) brBleo QoSS 2_HusS) SINGe0 LT SIS 4. vbleos Sledr euHLTETD ST fUTET &L_6oTledT
ANE D

(A) (@)3), (b)(1), (©)(2), (d)(4)

(B) (@)-(1), (b)3), (©)(4). (d)-(2)

(© @4(2), (b)), (c)(3), (d)(4)

(D) @)+3), (b)-(4), (1), (d)(2)

E) eflom @sfliweNeoemen

80. Which of the following pairs is correctly matched regarding Tamil Nadu's rankings?
Export Preparedness Index - First place
Automotive Exports - Leading state in the country
Educational Institutions - Highest number in national rankings
(A) 1 only
(B) 1 and 2 only
(C) 2 and 3 only
(D)1, 2,and 3
(E) Answer not known
SWOIDBITL 19 651 sTeuflemaulleo Slesrau(mib Genmg selfled e18) &flwnes @upbSluyeTorg)?
abpiod swriblemeo &MHIIE - pHeSlb
UT&ET eI MILS) - L _Lq.657 (W 6dT6oTemfl Lomibleotd
sovall HimieucsTibiser - 85w sreuflenaulicd 2158 616vor cxflé 608
A)1wl_{Hib
B)10b mib 2 <1, Siredor (Hitd
C) 2 wHmub 3 L [Hib
D)1, 2whmub 3
E) oo @sflweScoemeo

81. Which of the following statements about Tamil Nadu's Revenue Receipts for 2024-25 is correct?
Total Revenue Receipts are estimated at Rs.2,99,009.98 crore
State's Own Tax Revenue is projected to be Rs.1,95,172.99 crore
Non-Tax Revenue is estimated at Rs.49,754.95 crore
Select the correct answer using the codes given below:
(A) Only 1 and 2
(B) Only 2 and 3
(C)Only 1 and 3
(D)1,2and 3
(E) Answer not known

2024-25 Slb Y6001l H&TET SWOIDBIL 1965 QBT aITa&6T &MHISs Slerau(ph iMbamasefleo 6rg)

sflwreorg)?
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1)  OWIHH QIIHENTL CUTCYSET ¢15.2,99,009.98 B&iig ereor SIIGIL_ UL (HleiTerg)

2) wbleosSlesr Qambs aufl eumeui 195172.99 @i eHUMUITGS & (H&E LD eTeor SIIGIL_tIUL (HeiTer &)
3) euflwebeons eupeuML ¢15.49,754.95 B&iig. eTeor WSIIEIL_IUL (HleiTerm &)

&Q@ Gsn(hssuiul_(Herer @mluThHissmert uwesTuhisS) Fflwner uSlemeod GsiithO\s (Hda&aLb:
A)1obHmibd 21" HGw

B) 2 b muib 3 w1 (HiGw

O 1hHmub 3 1o1”_[Hibd

D)1 2whmb 3

E) eflom @sfliweNeoemen

82. What is the estimated growth rate of State's Own Tax Revenue for Tamil Nadu in 2026-277?
(A) 14.33%
(B) 15.54%
(C) 16%
(D) 18%
(E) Answer not known
202627 Splb 6001960 SWOIDHIL 19657 wHleosSHlesr @embs eufl eupeumuilesr wSIIGI_BUL L everié&l
AN&EH1D 67657 6oT?
(A)14.33%
(B)1554%
C)16%
D)18%
(E) efem_ @sfliuesleocmen

83. Tamil Nadu's share in Central Taxes for 2024-25 is estimated at:
(A) Rs.30,727.82 crore
(B) Rs.45,052.52 crore
(C) Rs.49,754.95 crore
(D) Rs.57,964.52 crore
(E) Answer not known
2024-25 Splb Spev011q HsmeoT wHSW euflsafleo SWOIDBTL L 66T U@ BlesTeuBLM M) LHIGILBUL_(HeTers:
(A) e.30,727.82 @s&imig.
(B) e15.45,052.52 @&mig.
(C) e15.49,754.95 Basmg.
(D) em.57,964.52 @eaimig.
(E) oo @sfliuesleocmen

84. The Revenue expenditure of Tamil Nadu in Budget Estimates 2024-25 shows an increase of what
percentage over Revised Estimates 2023-24?
(A) 9.70%
(B) 12.42%
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(C) 14.33%
(D) 16.50%
(E) Answer not known

2024-25 b S,600TIq HETET aure]-GiFcoas Sl wSHuSHsofleo SWOIDHTL 19607 eu(Heumis GFeey 202324
H55 wHISHBm ol srimiera) s5eSsi> Sl flsgTors?

(A)9.70%

(B)12.42%

(C)14.33%

(D)16.50%

(E) eflom_ @ flwesleoemen

85. Match the following expenditure components with their estimated amounts for 2024-25:
a) Salaries | 1. Rs.37,663.56 crore
b) Non-wage Operations and Maintenance | 2. Rs.84,931.60 crore
c¢) Pensions and Retirement benefits | 3. Rs.15,013.46 crore
d) Interest payments | 4. Rs.63,722.24 crore
(A) a-2,b-3,¢-1,d-4
(B) a-1, b-2, ¢-3, d-4
(C)a4,b-3,c-2,d-1
(D) a-3, b-1, c-4, d-2
(E) Answer not known
GlesT (LD Gl&F 606560 & Far MId GG 2024-25 LD <, 68oTLY. (HETGOT SieuiD 6T SHOGIL_ UL L @51 6588 (6THL_ 65T
QUNHSG)s:
a) &lbuerid | 1. ¢5.37,663.56 @simig.
b) 2e1 Hlwib Disoeons GEweoun (e wbHmib urmofliy | 2. e5.84,93160 Gamig.
¢) iligy Srhugs e iHmib giliey Sl 6T L&A | 3. 015.15,013.46 Gssriq
d) eur”_ 19 @EFNISBH 06T | 4. 0H.63,722.24 BssiTig.
A)A2,B3,C1D4
B)A1B2,C3D4
C)a4,b3,c.2,d1
D)a3 bi,ca,d2
E) eflom @sfliwueNeoemen

86. The Capital Expenditure in Budget Estimates 2024-25 shows an increase of what percentage over
Revised Estimates 2023-247?
(A) 9.70%
B)12.11%
(C) 14.33%
(D) 16.50%

(E) Answer not known
2024-25 U@L wHUSHs66 s d Eeon| 2023-24 Sl(H56 WHINS([HIS T 6L creieucTe) &F&56850b
S5 gicmong?
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(A)9.70%

(B)12.11%

(C)14.33%

(D)16.50%

(E) oo @ flwesleoemen

87. In which financial year is Tamil Nadu projected to achieve a Revenue Surplus according to the
budget estimates?
(A) 2024-25
(B) 2025-26
(C) 2026-27
(D) 2027-28
(E) Answer not known
ourey-OFeoayd S L wHuShHsefleru, erbs HlSlwnesorgéo SWOIPHT(EH eupeumis 2 _uflemw SiemL b eTeoT
sanflésiu’_(hererg?
(A)2024.25
(B)2025.26
(C)2026-27
(D)2027.28
(E) efem_ @sfliuesleocmen

88. What is the Fiscal Deficit to GSDP ratio estimated for Tamil Nadu in the Budget Estimates for 2024-
25?
(A) 3.0%
(B) 3.44%
(C) 3.84%
(D) 4.5%
(E) Answer not known
202425 Wb Jeoriqherer are-soasd S wHuShHsefle, wrbleo Ewrss 2 Hussl wHadle
SWOIDBIL 19 hemeor HISI0 ubmTéEemm eNESD creieuerey?
(A)3.0%
(B)3.44%
(C)3.84%
(D) a.5%
(E) Moo @sflwesleoemen

89. Which of the following statements about Tamil Nadu's guarantees is incorrect?
(A) Outstanding guarantees should be restricted to 100% of Total Revenue Receipts or 10% of
GSDP, whichever is lower
(B) As of March 31, 2023, outstanding guarantees were 43.72% of Total Revenue Receipts in the
preceding year
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(C) Outstanding risk weighted guarantees should be kept at 75% of Total Revenue Receipts or 7.5%
of GSDP, whichever is lower

(D) As of March 31, 2023, outstanding risk weighted guarantees were 15.57% of Total Revenue
Receipts and 3.84% of GSDP

(E) Answer not known

SOIDBITL 19 65T 2_SsTeunsiisar ubhdiw Kesreu(pb iMléenasafleo 618 &eumiteor g)?

(A) PepiemenSlgpicirer Sire: 2_&Sreun Gihiaer, GLomss eu(HeuMlE &60ordE) aIa|sHefleo 100 &&56SgD Dicveosg
wrbleo @IS 2 Hussl wEGe 10 F568isD, Seubidled 618 GHODAMETEHT is5MHE WIsTEd S(HbHs
@euetor (Hib

(B) mig 31, 2023 Hleveurtiulg., Hlepiemeuulleop 2 _6irer 2_&HTeUTHRISET (WPihoHSI < eHoTIq.60 @IOMTE S GU(HEUML
r&gselfled 43.72% <,@&D

(C) Hepemeullgpieiter umu SIS () SigtueoL uGleoreor 2 SSHTeuTHhis6T, GLoNds Gu(HuTLIs &60oTdH®E)
areysafleo 75 &s6fisb Sicveog wmbleo OLISES 2 Husbs wHOG 75 FHlisD Seubhbdleo org
GoomauretGsm Sibhs lereih @ S(He Geuesor(Hib

(D) wmig 31, 2023 Hleveurtiulg, Hlepiemeuuileo 2 6rem HuUSHGH eTeOLWIL VUL L 2 S5TUTHRISET Conss
eupeumi & gis6ifleo 15.57% b mib wrbleo Gonss 2 6B () 2_Hud Slufleo 3.84% @G0

E) sflom_ @& flweNeoemen

90. Which of the following statements about Tamil Nadu's Grants-in-Aid from the Union Government is
correct?
1) Itis estimated at Rs.23,354.22 crore for 2024-25
2) Itis projected to grow by 8% annually in 2025-26 and 2026-27
3) It forms the largest component of central transfers to the state
4) Select the correct answer using the codes given below:
(A)Only 1
(B) Only 1 and 2
(C)Only 2 and 3
(D)1,2and 3
(E) Answer not known
wSSW STSLWDO(BHS SWIDBL 19 (HE aupBiIsUURHID 2_g6i wreflwhiser ubh i GleTaHD iMléamesafled
o18) Fflwneor &)?
1) &8l 2024-25 b ), 60011 60 23,354.22 @siTig elpumuTs &(H @G ereor SIS Gul_(Herer s
2) &§ 202526 WbHDID 202627 B paThHSGTD WSTHGHTMID 8% TR GTGTMI
senllésiul_(heirerg)
3) &g wrbleosShaner wsSw uflrboisefled WslGUIW SibiswLTEs SieWSIDE
4) 8B @&nHssUUL_[HeTer @ MHuThHissmert uweTuhis S flwnet uSlemeos Bsiiih 0S5 (H&e oib:
A)1or_(HGw
B)1wombmid 2 o (HiGw
C) 2w mud 3w [HiGw
D)1 2whmud 3
E) oo @sflweScoemen
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91. The expenditure on Subsidies and Transfers in Tamil Nadu's budget takes into account which of the

following factors?

1) Magalir Urimai Thogai

2) Reduction in loss funding to TANGEDCO

3) Increased transport subsidies

4) Implementation of new welfare schemes
(A) 1, 2 and 3 only
(B) 2, 3 and 4 only
(C) 1, 3 and 4 only
(D) All of the above
(E) Answer not known

SOIDBTL_1q 66T UL Glge1” 19 60 Wmesflwbise whH mutb IHB(HEEH&sTeT GFeve Blesrau(bb srraflsafls orems
H6o185160 6T(H5 8165 @&TeTS DS)?
1) wsefli2_fleow Gsnemns
2) sWIpBNH Wis 2_HusSl whmib uSlivrersd sWessSHE abu@ib HiS Swienusd @ omnssco
3) @GursEours g wresflwbiser SiSlefloy
4) ySwpeosSIL L bisemer GFweoU(hS&is 60
A)1,2wHmd 3w HIb
B) 2,3 wihmub 4 w1’ {Hid
O)1,3Hmub 4 11" [Hibd
D) Bw@ov 2_sirem Sicmeot b
E) eflonL_ @sfliwueNeoemeon

92. What is the required real growth rate for Tamil Nadu to achieve a US$ 1 trillion economy by 2033-
34, assuming 5% inflation and 2% annual exchange rate depreciation?
(A) 7%
(B) 8%
(C) 9%
(D) 10%
(E) Answer not known
5% ueT6li& LD WHMID 2% euBLTHSIT rbm 6Hl&ls Gguiwnerb ,&Ewebhemn Mispiwreflisg), 2033-34 b
=,600719.60 114 fleoeSwesT S1@Lflée L ook QUITIHETTHTT S 6m& DiemL W B8 EmEULITGEOT 2_600T 6OLDWITEOT 66T & &
NS ercdTeoT?
(A) 7%
B)s%
(C)ou
(D)10%
(E) eflemL_ @5 flweNeocmoo

93. Which of the following sectors contributed the highest average percentage to Tamil Nadu's overall
economic growth during 2012-13 to 2021-227?
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(A) Primary sector

(B) Secondary sector

(C) Tertiary sector

(D) Taxes minus subsidies on products
(E) Answer not known

201213 (PS> 202122 eueon SHWODHIL 96T LI HOWTSS @urEerTsTr cueridslulleo Sles srmedl
F56fi55 Sloo uhiseaflss glemmaeer 61emen?

(A) PBH6TDOWLS HIGHD

(B) 8resor_mid Hleweos giemm

(C) epesromd Hleweos giemm

(D) suflseir &10158 60 GuTHL_s6iT (Bsmeor meosflwibisseir

(E) oo @ flwesleoemen

94. What was the average annual depreciation of the Indian rupee against the US dollar during 2014-
15 to 2021-227?
(A) 2.1%
(B) 2.7%
(C) 3.03%
(D) 3.5%
(E) Answer not known
201415 (P &60 202122 eueor SiGIM&Es LTeohé@) sTSlnmeor SbSiu epumufiest Frmafl euapLbSIr @giiomeorid
6T6oT60T?
(A)2:1%
B)27%
(C)3.03%
(D)35%
(E) eSlomL_ @ flweNeosmoo

95. What was Tamil Nadu's share in the total exports of India in 2020-21?
(A) 7.56%
(B) 8.98%
(C) 9.58%
(D) 10.36%
(E) Answer not known

2020-21 b 60011960 SbSuneileir Qs s abmInSluleo SWOIDBITL g 65T UTkiE) 6T6I6U6T6)?
(A)7.56%

(B)s.98%

(C)o58%

(D)10.36%

E) sflom @& flweNeoemen
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96. To which new areas will the 'Vidiyal Payana Thittam' free bus travel scheme be extended from the
coming year?
(A) Madurai, Salem, and Tirunelveli
(B) Nilgiris, Kodaikanal, and Valparai
(C) Coimbatore, Tiruchirapalli, and Thanjavur
(D) Kanyakumari, Rameswaram, and Ooty
(E) Answer not known
efligwico Lwewrs Sl L Sooeus Gupbs LweTd SILD eupD Paor(h WH 61HOSHE LS
UGS EHEE HL 19 &860UHID?
(A) wgieor, @govid WHMID H(1HOHEG6u6d
(B) Boo&Ifl, GsmemLd8meoT60, oh M euTeoUTemnH
(C) Bamubus g, Sl(hé Srmiiuerefl HmID &6h&Tey i
(D) s csreoflwn@off], Sum@eveurid b mb 2er1” 1q
(E) oo @sflwesleoemen

97. Which department will be renamed as the 'Department of Children Welfare and Special Services'?
(A) Department of Social Justice
(B) Directorate of Social Defence
(C) Department of Child Protection
(D) Directorate of Women and Child Development
(E) Answer not known

6THSS SHIGOM &0 MSHE6T HEvedT WhHmID FlMUiy GFemeusseir giemm’ 6reor GUWI IHMD GFWGUHID?
(A) seps BES giowp

(B) #ep a0 UTgIBTIY SWEHEGHISD

(©) et ungsTUYS Glowm

(D) Quesst&6it HmIb GWibems&6r Gubur” (H SwéEbIsD

(E) Moo @sflwesleoemen

98. Which of the following is NOT mentioned as a component of the '"Tholkudi' scheme?
(A) Road facilities
(B) Potable water
(C) Street lights
(D) Educational institutions
(E) Answer not known

SlestaumaisToNbHDled 675 ‘OISToEIq’ S SS16T 6(H UGSIWTS & OIGIL_UuL_65l6o6m60?
(A) smem60 6uE Sla6T

(B) @i

(C) @& Slem& @ &6

(D) &606 H myeucoriisseir

(E) eflemL_ @5 flweNeocmoo

99. What is the interest subsidy provided under the 'CM Arise' scheme?
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(A) 25%

(B) 30%

(C)35%

(D) 40%

(E) Answer not known
'CM Arise §it_L 5 Sledr i euipraistiuplid eul’_Lq. wreoflib erelieuerey?
(A)25%

(B)30%

(C)35%

(D) 4ao%

(E) eflom_ @ flwesleoemen

100. By how much has the enrollment of girl students in the first year of higher education increased
after the implementation of the Moovalur Ramamirtham Ammaiyar Puthumai Penn Thittam?
(A) 24%
(B) 29%
(C)34%
(D) 39%
(E) Answer not known
epousi SImombdlish Sibemwwri ygeowl Guesr S Lib GFweuhissiur’ L Bng 2 wiscoeuilesr
WPBH6O 671G 60 WTereflseflesr G&iidoms ereleuere)y iSlsils gicTers?
(A) 24%
(B)29%
(C)34%
(D)39%
E) oo @sflweScoemeo

Reasoning questions

101.256:14::441:7

(A) 18

(B) 25

(C)19

(D) 21

(E) Answer not Known
102. 7528 : 5306 :: 4673 : ?

(A) 2367

(B) 2451

(C) 2531
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(D) None of these

(E) Answer not Known
103.12:144::20:7?

(A) 464

(B) 400

(C) 135

(D) 140

(E) Answer not Known
104.8:59:27:7?

(A) 89

(B) 86

(C) 81

(D) 78

(E) Answer not Known
105.6:18:4:7

A) 2

B)6

(C)12

(D) 16

(E) Answer not Known
106.21:3:574:7?

(A) 23

(B) 82

(C)97

(D) 113

(E) Answer not Known
107.25:125:81:7?

(A) 180

(B) 706

(C)729
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(D) 625

(E) Answer not Known
108.8:81:7:7

(A) 89

(B) 64

(C) 525

(D) 625

(E) Answer not Known
109.25:37::49:7?

A) 41

(B) 56

(C) 60

(D) 65

(E) Answer not Known
110.1:1=5:7

(A) 26

(B) 125

(C) 240

(D) 625

(E) Answer not Known
111. LOGIC : BHFNK :: CLERK : ?

(A) XVRPA

(B) OBKJA

(C) LPRTU

(D) JODKB

(E) Answer not Known
112. MNO:NML = TUV :?

(A)JHI

(B) GFE

(C) WvU
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(D) ABC
(E) Answer not Known
113. PALE : LEAP : POSH : ?
(A) HSOP
(B) POHS
(C) SHOP
(D) None of these
(E) Answer not Known
114. CFED is related to PSQR in the same way as JMKL is related to .......... ?
(A) YXZW
(B) YUZX
(C)WZWZ
(D) UVXZ
(E) Answer not Known
115. USPL is to KMPT as LJGC is to.....?
(A) BDGK
(B) CEHL
(C) GHJI
(D) QSUW
(E) Answer not Known
116. ACF] is related to ZXUQ in the same way as EG]N is related to .......... ?
(A) DBYU
(B) VIQM
(C) VIRP
(D) VUSQ
(E) Answer not Known
117. AEROPLANE is to ARPAENLOE as TELEVISION is to .......... ?
(A) CGNCXGUGQL
(B) VELETONSOV
(C) ETELVISNO
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(D) TLVSONIIEE

(E) Answer not Known
118. As COUNSEL is to BITIRAK so also GUIDANCE is to .......... ?

(A) EOHYZKBB

(B) FOHYZ]BB

(C) FPHZZKAB

(D) HOHYBJBA

(E) Answer not Known
119. Given set: (9, 15, 21)

(A) (10, 14, 16)

(B) (7, 21, 28)

(C) (5, 10, 20)

(D)4, 8,12)

(E) Answer not Known
120. Given set: (8, 3, 2)

(A) (10, 6, 5)

(B) (63, 8, 3)

(C) (95,12, 6)

(D) (168, 15, 4)

(E) Answer not Known
121. Given set: (9, 15, 21, 27)

(A) (15, 25, 35, 45)

(B) (21, 35, 41)

(C) (21, 31, 55)

(D) (21, 35,91)

(E) Answer not Known
122. Given set: (144, 169, 196)

(A)(121,157,169)

(B) (181,97,9)

(C) (144, 243,19)
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(D) (2187, 243, 27)
(E) Answer not Known
123. Which of the following has the same relationship as Cell : Cytology :: ?
(A) Worms : Ornithology
(B) Insects : Entomology
(C) Diseases : Physiology
(D) Tissues : Morphology
(E) Answer not Known
124. Which of the following has the same relationship as Carpenter : Wood :: ?
(A) Teacher : Cloth
(B) Tailor : Cloth
(C) Cobbler : Book
(D) Cook : Shoes
(E) Answer not Known
125. Which of the following has the same relationship as Surgeon : Scalpel :: ?
(A) Musician : Instrument
(B) Carpenter : Cabinet
(C) Sculptor : Chisel
(D) Baker : Oven
(E) Answer not Known
126. Which of the following has the same relationship as (8, 88, 160)?
(A) (8,70,99)
(B) (9, 90, 150)
(C) (9, 99, 180)
(D) (10, 10, 170)
(E) Answer not Known
127. Which of the following has the same relationship as Horse : Hoof :: ?
(A) Man : Foot

(B) Carpenter : Cabinet
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(C) Sculptor : Chisel
(D) Baker : Oven
(E) Answer not Known
128. Which of the following has the same relationship as Book : Author :: ?
(A) Rain : Flood
(B) Light : Switch
(C) Symphony : Composer
(D) Song : Music
(E) Answer not Known
129. Which of the following has the same relationship as Sailor : Compass :: ?
(A) Student : Exam
(B) Doctor : Stethoscope
(C) Pen : Officer
(D) Painter : Artist
(E) Answer not Known
130. Which of the following has the same relationship as Nuts : Bolts :: ?
(A) Bricks : Plumber
(B) Pen : Artist
(C) Screw : Screwdriver
(D) Nail : Hammer
(E) Answer not Known
131. Peat, Bituminous, Lignite.
(A) Coke
(B) Granite
(C) Basalt
(D) Anthracite
(E) Answer not Known
132. Haryana, Goa, Gujarat
(A) Amritsar

(B) Allahabad
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(C) Punjab

(D) Baroda

(E) Answer not Known
133. Violet, Blue, Green

(A) Black

(B) Orange

(C) White

(D) Paint

(E) Answer not Known
134. Yuan, Kyat, Lira

(A) Dirham

(B) Turkey

(C) Madrid

(D) Mass

(E) Answer not Known
135. BAG: CCJ :: PEN:?

(4) QGQ

(B) OFO

(C) RGP

(D) OCK

(E) Answer not Known
136. BCF: HHL :: MNQ : ?

(A) WXY

(B) WTX

(CO)WTV

(D) TTX

(E) Answer not Known
137. KMF : LLH :: RMS: ?

(A) SLR

(B) SLU
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(C) SSU

(D) SUS

(E) Answer not Known
138. BYCX : DWEV :: FUGT : ?

(A) EHU

(B) GHU

(C) HSIR

(D) SRHS

(E) Answer not Known
139. BUCKET : ACTVBDJLDFSU :: BONUS : ?

(A) ACMNMOTVRT

(B) SUNOB

(C) ACNPMOTVRT

(D) ACMNMOTURT

(E) Answer not Known
140. ACEG : DFHJ :: QSUW : ?

(A) KMNP

(B) MNPR

(C) TOST

(D) TVXZ

(E) Answer not Known
General English
141. Match the following idioms with their meanings:
(a) A blessing in disguise | 1. Something good that isn't recognized at first
(b) Break the bank | 2. To be very expensive
(c) Cut to the chase | 3. To get to the point without wasting time
(d) Hit the books | 4. To study hard
A) @)(1), (b)(2), (c)-(3), (d)«(4)
B) (a){(2), (b)(1), (©}(4), (D-3)
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O (@)-(3), (b)(4), (0)«1), (d)-(2)
D) (@-(4), (b)(3), (c)(2), (d1)

GROUP-IIA MAINS

E) Answer not known

142. "Bite the bullet" means
Fill up the blank with suitable answer.
A) To reveal a secret
B) To endure a painful experience
C) To describe exactly what is causing a situation or problem
D) To make a start by overcoming initial difficulties

E) Answer not known

143. Match the following idioms with their meanings:
(a) When pigs fly | 1. Something that will never happen
(b) Kick the bucket | 2. To die
(c) Under the weather | 3. Feeling ill
(d) Bite off more than you can chew | 4. Taking on a task that is too big
A) (@H(1), (bH(2), ()3), (dH4)
B) (a){(2), (b)(1), (c)}(4), (d-(3)
O (@)-(3), (b)(4), (1), (d)-(2)
D) (@)4), (b}(3), (c)(2), (d){1)

E) Answer not known

144. "Break the ice” means
Fill up the blank with suitable answer.
A) To reveal a secret
B) To endure a painful experience

C) To describe exactly what is causing a situation or problem
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D) To make a start by overcoming initial difficulties

E) Answer not known

145. Match the following idioms with their meanings:
(a) Cold turkey | 1. To quit something abruptly
(b) A dime a dozen | 2. Very common and not special
(c) Fit as a fiddle | 3. In good health
(d) Break a leg | 4. Good luck
A) (@)-(4), (b}(3), (c)(2), (A1)
B) (a)«(1), (0)(2), (c)A3), (d)-(4)
C) (a)}(2), (b}(1), (c)-(4), (d)-(3)
D) (@)(3), (b)(4), (c)(1), (d)2)

E) Answer not known

146. "Hit the nail on the head" means
Fill up the blank with suitable answer.
A) To reveal a secret
B) To endure a painful experience
C) To describe exactly what is causing a situation or problem
D) To make a start by overcoming initial difficulties

E) Answer not known

147. Match the following idioms with their meanings:
(a) Spill the beans | 1. To reveal secret information
(b) Once in a blue moon | 2. Very rarely
(c) Piece of cake | 3. Something very easy to do

(d) The ball is in your court | 4. It's your decision or responsibility now

A) (a)(2), (bH(1), (cH4), (d(3)
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B) (a)-(3), (b)(4), (c)«1), (d)-(2)
O (a@)-(1), (b(2), (©)«3), (d)-(4)
D) (@)(4), (0)}(3), (c)(2), (d)(1)

E) Answer not known

148. "Let the cat out of the bag" means
Fill up the blank with suitable answer.
A) To reveal a secret
B) To endure a painful experience
C) To describe exactly what is causing a situation or problem
D) To make a start by overcoming initial difficulties

E) Answer not known

149. Match the following idioms with their meanings:
(a) Let the cat out of the bag | 1. Reveal a secret
(b) Go the extra mile | 2. Make a special effort
(c) Jump the gun | 3. Start too soon
(d) Under the weather | 4. Feeling ill
A) (@)2), (b}H3), (e)-(4), (A1)
B) (2)«(1), (0)(2), (c)A3), (d)(4)
C) (a}(4), (b}(1), (c)«(2), (d)-(3)
D) (@)(3), (b)(4), (c)(1), (d)2)

E) Answer not known

150. "The ball is in your court" means
Fill up the blank with suitable answer.
A) To reveal a secret

B) It's your decision or responsibility now
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C) To describe exactly what is causing a situation or problem
D) To make a start by overcoming initial difficulties

E) Answer not known

151. Match the following idioms with their meanings:
(a) Pull someone's leg | 1. To joke with someone
(b) Burn the midnight oil | 2. To work late into the night
(c) Beat around the bush | 3. To avoid talking about something directly
(d) Cost an arm and a leg | 4. To be extremely expensive
A) @)-(2), (b)(1), (c)-(4), (d)-3)
B) (@)}(3), (b)-(4), (c)-(1), (d)(2)
C) (@)(1), (b)(2), (3, (d)(4)
D) (a)4(4), (b)}-(3), (0)4(2), (A1)

E) Answer not known

152. "Barking up the wrong tree" means
Fill up the blank with suitable answer.
A) To make a loud noise
B) To be mistaken or misguided in one's efforts
C) To chase after something persistently
D) To cause trouble in a neighborhood

E) Answer not known

153. Match the following idioms with their meanings:
(a) Throw in the towel | 1. To give up
(b) Out of the blue | 2. Unexpectedly
(c) Get your act together | 3. To organize yourself

(d) Add insult to injury | 4. To make a bad situation worse
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A) (a)(1), (bH2), (H3), (d-4)
B) (a)(2), (b)(1), (c)«(4), (d)-(3)
O (@)-(3), (b)}(4), (c)«(1), (d)(2)
D) (@-(4), (b)(3), (c)(2), (d1)

E) Answer not known

154. "To be on cloud nine" means
Fill up the blank with suitable answer.
A) To be very sad
B) To be extremely happy
C) To be lost in thought
D) To be in a difficult situation

E) Answer not known

155. Match the following idioms with their meanings:
(a) Turn a blind eye | 1. To ignore something you know is wrong
(b) Kill two birds with one stone | 2. To solve two problems at once
(c) Cry over spilled milk | 3. To complain about something that can't be changed
(d) Speak of the devil | 4. Said when someone appears just as you talk about them
A) @)-(4), (b)A3), (c)(2), (d)(1)
B) (a)}(1), (b)(2), (}(3), (d)-(4)
C) (@(2), (b)(1), (©(4), (D-3)
D) (@)-3), (b)), (o)1), (d-(2)

E) Answer not known
156. "To face the music" means

Fill up the blank with suitable answer.

A) To enjoy a concert
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B) To accept the consequences of one's actions

C) To play a musical instrument
D) To lead an orchestra

E) Answer not known

157. Match the following idioms with their meanings:
(a) Rub someone the wrong way | 1. To irritate or annoy someone
(b) Take a rain check | 2. To postpone an invitation
(c) Cut corners | 3. To do something in the easiest or cheapest way
(d) Turn over a new leaf | 4. To make a fresh start
A) @)-1), (b)(2), (0)-(3), (d)«(4)
B) (a){(2), (b)(1), ()}(4), (D)-3)
C) (@+(3), (b)-(4), ()-(1), (d)(2)
D) (@)-(4), (0)-(3), (©)4(2), (d)-(1)

E) Answer not known

158. "To have a chip on one's shoulder” means
Fill up the blank with suitable answer.
A) To carry a heavy burden
B) To have a superiority complex
C) To hold a grudge or grievance
D) To have excellent posture

E) Answer not known

159. Match the following idioms with their meanings:

(a) Put all your eggs in one basket | 1. To risk everything on a single venture
(b) Bite the dust | 2. To fail or die

(c) Blow off steam | 3. To release anger or frustration
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(d) Tie the knot | 4. To get married
A) (@)(2), (0)(3), (c)(4), (1)
B) (a)3), (b)-(4), (c)(1), (d)-(2)
C) (@-(1), (b)(2), (}(3), (d)(4)
D) (a)-(4), (b(1), (©}(2), (d3)

E) Answer not known

160. "To be in hot water" means
Fill up the blank with suitable answer.
A) To be in trouble
B) To be very warm
C) To be in a hurry
D) To be famous

E) Answer not known

161. Match the following idioms with their meanings:
(a) Make a mountain out of a molehill | 1. To exaggerate a problem
(b) Paint the town red | 2. To go out and celebrate
(c) Sit on the fence | 3. To be undecided
(d) Put a sock in it | 4. To be quiet
A) (@)2), (bH1), (c)-4), (D-3)
B) (2)43), (0)(4), (c){(1), (d)(2)
C) (a)(1), (b}(2), (e)«(3), (d)-(4)
D) (@)H(4), (b)(3), (c)(2), (d){1)

E) Answer not known

162. "To have your cake and eat it too" means

Fill up the blank with suitable answer.
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A) To enjoy two good things at the same time

B) To be extremely lucky
C) To be greedy
D) To celebrate a birthday

E) Answer not known

163. Match the following idioms with their meanings:
(a) Shoot the breeze | 1. To chat idly
(b) Steal someone's thunder | 2. To take credit for someone else's work
(c) Give someone the cold shoulder | 3. To ignore someone
(d) Climb on the bandwagon | 4. To join a popular trend
A) @)(1), (b)(2), (c)-(3), (d)«(4)
B) (a)}-(2), (b)-(1), (c)-(4), (d)-(3)
C) (@+(3), (b)-(4), ()(1), (d)(2)
D) (a)4(4), (b)}(3), (0)4(2), (A1)

E) Answer not known

164. "To be caught red-handed" means
Fill up the blank with suitable answer.
A) To be embarrassed
B) To be caught in the act of doing something wrong
C) To have dirty hands
D) To be angry

E) Answer not known
165. Match the following idioms with their meanings:

(a) Fly off the handle | 1. To become suddenly very angry

(b) Wear your heart on your sleeve | 2. To openly show your emotions
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(c) Bite the bullet | 3. To face a difficult situation bravely
(d) Throw caution to the wind | 4. To act recklessly

A) @-4), (bH3), (©)(2), (A1)

B) (a)-(1), (b(2), (©)(3), (dH4)

C©) (@)-(2), (b(1), (©)(4), (dH(3)

D) (2)-(3), (bH#), (K1), (d)(2)

E) Answer not known

166. "To be a piece of cake" means
Fill up the blank with suitable answer.
A) To be very sweet
B) To be very easy
C) To be incomplete
D) To be desirable

E) Answer not known

167. Match the following idioms with their meanings:
(a) Packed like sardines | 1. Crowded in a small space
(b) Knock on wood | 2. To avoid bad luck
(c) Throw in the towel | 3. To give up
(d) Cut someone some slack | 4. To be less demanding of someone
A) @)-(1), (b)A2), (c)(3), (d)«(4)
B) (a)}(2), (b)-(1), (c)-(4), (d)(3)
C) (@+(3), (b)-(4), ()(1), (d)(2)
D) (@)4(4), (b)}(3), (©)4(2), (A1)

E) Answer not known

168. "To be on thin ice" means
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Fill up the blank with suitable answer.
A) To be very cold

B) To be in a dangerous situation

C) To be an excellent ice skater

D) To be easily broken

E) Answer not known

169. Match the following idioms with their meanings:
(a) Beat a dead horse | 1. To waste effort on something that has already ended
(b) Shoot from the hip | 2. To speak without thinking
(c) Go cold turkey | 3. To abruptly quit a habit
(d) Put all your eggs in one basket | 4. To risk everything on a single venture
A) @)-(2), (b)(3), (c)-(4), (A1)
B) (@}(3), (b)-(4), (c)(1), (d)(2)
O) (@-(1), (b)(2), ()(3), (d)(4)
D) (@)-(4), (b)(1), (©)4(2), (d)-(3)

E) Answer not known

170. "To be at the end of on€'s rope” means
Fill up the blank with suitable answer.
A) To be physically tired
B) To have no more patience or resources left
C) To finish a challenging task
D) To reach a destination

E) Answer not known

171. Match the following idioms with their meanings:

(a) Beat around the bush | 1. Avoid saying something directly
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(b) Cost an arm and a leg | 2. To be very expensive

() Get cold feet | 3. Become nervous or hesitant
(d) On cloud nine | 4. Extremely happy

A) (@)(1), (0)(2), ()(3), (d-4)

B) (a)(2), (0)(1), (c)(4), (d)-(3)

C) (@+(3), (b)-(4), (1), (d)(2)

D) (a)-(4), (b(3), (©)(2), (A1)

E) Answer not known

172. "Pull someone's leg" means . Fill up the blank with a suitable answer.
A) To tease or joke with someone
B) To help someone in need
C) To criticize someone harshly
D) To encourage someone to do something

E) Answer not known

173. Match the following idioms with their meanings:
(a) See eye to eye | 1. Agree with someone
(b) A piece of cake | 2. Very easy
(c) Spill the beans | 3. Reveal a secret
(d) The elephant in the room | 4. An obvious problem that no one wants to discuss
A) @)-(1), (b)A2), (c)-(3), (d)-(4)
B) (a)}(2), (b)-(1), (c)-(4), (d)-(3)
C) (@+(3), (b)-(4), ()(1), (d)(2)
D) (@)4(4), (b)}(3), (©)4(2), (A1)

E) Answer not known

174. "Face the music" means . Fill up the blank with a suitable answer.
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A) To enjoy a pleasant experience

B) To accept the consequences of one's actions
C) To avoid a difficult situation

D) To celebrate an achievement

E) Answer not known

175. Match the following idioms with their meanings:
(a) In hot water | 1. In trouble
(b) Keep your fingers crossed | 2. Hope for good luck
(c) Miss the boat | 3. Miss an opportunity
(d) A penny for your thoughts | 4. What are you thinking?
A) (@)4), (BH3), (c)H2), (dH1)
B) (a)(1), (b}(2), (c)«(3), (d)-(4)
C) (@H(2), (b)(1), (c)H(4), (d)-(3)
D) (@)3), (b)-(4), (c)(1), (d)2)

E) Answer not known

176. "Cry over spilled milk" means . Fill up the blank with a suitable answer.
A) To worry about something that has already happened and cannot be changed
B) To express extreme sadness
C) To be overly emotional
D) To regret a missed opportunity

E) Answer not known
177. Match the following idioms with their meanings:

(a) Bend over backwards | 1. Try very hard to please someone

(b) By the skin of your teeth | 2. Barely succeed
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(c) Get a taste of your own medicine | 3. Experience the same unpleasant thing you have done to
others

(d) Hit the sack | 4. Go to bed
A) (@)(2), (0)(1), (c)-(4), (A-3)
B) ()«(3), (0)-(4), (c){(1), (d)-(2)
C) (@)(1), (0)(2), ()3, (d)-(4)
D) (a)-(4), (b(3), (c)(2), (1)

E) Answer not known

178. "To feel blue" means . Fill up the blank with a suitable answer.
A) To feel happy and excited
B) To feel sad or depressed
C) To feel angry or frustrated
D) To feel calm and relaxed

E) Answer not known

179. Match the following idioms with their meanings:
(a) A drop in the ocean | 1. A very small amount
(b) Actions speak louder than words | 2. What you do is more important than what you say
(c) Barking up the wrong tree | 3. Looking in the wrong place or accusing the wrong person
(d) Break the ice | 4. Make people feel more relaxed in a social situation
A) @)-(2), (b)(3), (c)-(4), (d)«1)
B) (a){(1), (b)(2), (©}(3), (d)(4)
O) @-4), (b)(1), ()(2), (d)-(3)
D) (@)3), (0)-(4), (©)«(1), (d-(2)

E) Answer not known

180. "To cut corners" means . Fill up the blank with a suitable answer.
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A) To do something carefully and thoroughly

B) To do something quickly and cheaply, often sacrificing quality
C) To take a shortcut
D) To avoid doing something

E) Answer not known

181. Match the following idioms with their meanings:
(a) Smell a rat | 1. To suspect something is wrong
(b) Sell like hot cakes | 2. To be in great demand
(c) Spill the beans | 3. To reveal a secret
(d) Get cold feet | 4. To become nervous about doing something
A) @)-(2), (b)(1), (c)-(4), (d)-3)
B) (a)}(3), (b)-(4), (c)-(1), (d)(2)
C) (@)(1), (b)(2), (©:(3), (D)4
D) (a)4(4), (b)}(3), (0)4(2), (A1)

E) Answer not known

182. "To be in hot water" means
Fill up the blank with suitable answer.
A) To be very warm
B) To be in trouble
C) To be excited
D) To be in a hurry

E) Answer not known
183. Match the following idioms with their meanings:

(a) Bark up the wrong tree | 1. To pursue a mistaken course of action

(b) Burn the candle at both ends | 2. To overwork oneself
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(c) Let sleeping dogs lie | 3. To leave a situation alone
(d) Pull strings | 4. To use connections to get favors
A) (a(1), (b)A(2), ()3), (dH4)

B) (a)(2), (b)(1), (c)«(4), (d)-(3)

O) (@3, (b)(4), (1), (d(2)

D) (@-(4), (b)(3), (c)(2), (d1)

E) Answer not known

184. "To have a chip on one's shoulder” means
Fill up the blank with suitable answer.
A) To carry a heavy burden
B) To be angry about something that happened in the past
C) To have excellent posture
D) To be very confident

E) Answer not known

185. Match the following idioms with their meanings:
(a) Kick the bucket | 1. To die
(b) Tie the knot | 2. To get married
(c) Face the music | 3. To accept the consequences
(d) Blow off steam | 4. To release anger or frustration
A) (@)4), (BH3), (e)H2), (A1)
B) (a)}(1), (b}(2), (c)«(3), (d)-(4)
C) (@H(2), (0)(1), (c)H(4), (D)-(3)
D) (@)(3), (b)(4), ()(1), (d)2)

E) Answer not known

186. "To go bananas" means ____
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Fill up the blank with suitable answer.
A) To become very angry or excited
B) To go on a diet

C) To go crazy

D) To become very tired

E) Answer not known

187. Match the following idioms with their meanings:
(a) Hit the hay | 1. To go to bed
(b) Pull someone's leg | 2. To joke with someone
(c) Twist someone’s arm | 3. To persuade someone
(d) Jump on the bandwagon | 4. To join a popular trend
A) (@), (bH2), (e)3), (dD)-(4)
B) (a)4(2), (0)(1), (c){(4), (d)-(3)
C) (a)}(3), (b)}(4), (c)«(1), (d)(2)
D) (@a)H(4), (b){(3), (c)(2), (d)«1)

E) Answer not known

188. "To be a dark horse" means .
Fill up the blank with suitable answer.
A) To be mysterious
B) To be depressed
C) To be an unexpected winner
D) To be evil

E) Answer not known

189. Match the following idioms with their meanings:

(a) Bring home the bacon | 1. To earn money for the family
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(b) Cry wolf | 2. To raise false alarms

(c) Fit as a fiddle | 3. To be in good health
(d) Throw in the towel | 4. To give up

A) (@H2), (B)(3), (©)-(4), (D)

B) (@)(3), (bH(4), (©)(1), (d(2)

C©) @-(1), (b(2), (©)(3), (dH4)

D) (a)(4), (b)(1), (cH2), (d)3)

E) Answer not known

190. "To be worth one's salt" means
Fill up the blank with suitable answer.
A) To be very expensive
B) To be good at one's job
C) To be honest
D) To be very old

E) Answer not known

191. Match the following idioms with their meanings:
(a) A fish out of water | 1. Someone who is uncomfortable in a new situation
(b) Back to the drawing board | 2. Start over again
(c) Call it a day | 3. Stop working for the day
(d) Down to earth | 4. Practical and realistic
A) @)1), (b)(2), ()-(3), (d)«(4)
B) (a){(2), (b)(1), (}(4), (D-3)
C) (@+(3), (b)-(4), (c)(1), (d)(2)
D) (@)(4), (0)}-(3), (c)(2), (1)

E) Answer not known
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192. "To burn the midnight oil" means . Fill up the blank with a suitable answer.
A) To stay up late working or studying
B) To waste time
C) To relax and enjoy oneself
D) To start a new project

E) Answer not known

193. Match the following idioms with their meanings:
(a) Every cloud has a silver lining | 1. There is something good in every bad situation
(b) Get the ball rolling | 2. Start something
(c) Hit the hay | 3. Go to bed
(d) In the same boat | 4. In the same situation
A) @)-1), (b)(2), (0)-(3), (d)«(4)
B) (a){(2), (b)(1), ()}(4), (D-3)
C) @+(3), (b)-(4), (c)-(1), (d)(2)
D) (@)-(4), (0)-(3), (©)4(2), (A1)

E) Answer not known

194. "To keep an eye on" means . Fill up the blank with a suitable answer.
A) To watch closely
B) To ignore
C) To criticize
D) To admire

E) Answer not known
195. Match the following idioms with their meanings:

(a) Kill two birds with one stone | 1. Accomplish two things at once

(b) Last straw | 2. The final problem in a series that causes something to happen
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(c) Lend a hand | 3. Help someone
(d) Make up your mind | 4. Decide
A) (@4, (0)(3), (c)(2), (A1)
B) (a)}(1), (b)(2), (}(3), (d)<(4)
C) (@H(2), (0)-(1), (c)(4), (d)-(3)
D) (a)}(3), (b)(4), (1), (d2)

E) Answer not known

196. "To lose your touch" means . Fill up the blank with a suitable answer.
A) To lose your ability to do something well
B) To become clumsy
C) To forget something important
D) To lose your temper

E) Answer not known

197. Match the following idioms with their meanings:
(a) On the fence | 1. Undecided
(b) Out of the blue | 2. Unexpectedly
(c) Play it by ear | 3. Improvise
(d) Pull yourself together | 4. Calm down
A) (@)(2), (b)(1), (c)(4), (D-3)
B) (2)43), (0)(4), (c){(1), (d)(2)
C) (@H(1), (0)(2), ()(3), (d)-(4)
D) (a)(4), (b(3), (c)(2), (A1)

E) Answer not known

198. "To rain cats and dogs" means . Fill up the blank with a suitable answer.

A) To rain heavily
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B) To rain lightly
C) To snow
D) To be sunny

E) Answer not known

199. Match the following idioms with their meanings:
(a) Save for a rainy day | 1. Save for the future
(b) See the light | 2. Understand something
(c) Through thick and thin | 3. In good times and bad times
(d) Turn a blind eye | 4. Ignore something
A) @)-(2), (b)(3), (c)-(4), (d)«1)
B) (a){(1), (b)(2), (3, (d)(4)
C) @-4), (b)(1), ()(2), (d)-(3)
D) (@)3), (04, (©)«(1), (d-(2)

E) Answer not known

200. "To walk on eggshells" means . Fill up the blank with a suitable answer.
A) To be careful not to offend someone
B) To walk quietly
C) To be clumsy
D) To be confident

E) Answer not known
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